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Question Number : 1 Question Id : 1908891342 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Dimensional formula for angular veloeity 1s:

. [MOLT-]

2. [MPLAT 2]

3 [T

i T4
Options :

1908895301. 1
1908895302. 2
1908895303. 3

1908895304. 4

Question Number : 1 Question Id : 1908891342 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

FIofr 377 ¥ fore BT g

[__HELIT—J.]
[MO1iT 2]
[M°LOT 1]
[M°LOT 2]

BN e



Options :

1908895301. 1
1908895302. 2
1908895303. 3
1908895304. 4

Question Number : 2 Question Id : 1908891343 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ancular diameter of sun from earth 15 9.3x10” rad. The distance of the sun from the earth is
Sy i :
1.5x10° km. Then the diameter of the sun is;

1.3x10° m
1.3x10"m
1.3x10° m
1.3x10° m

b =

e L

Options :

1908895305. 1
1908895306. 2
1908895307. 3

1908895308. 4

Question Number : 2 Question Id : 1908891343 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

qI F FIONT AW 9.3x107 rad §1 Jeadt & FF Fr gl 1.5x10° 5t 81 7 | 7
U §

1.3310f m
13x10' m
13x10° m
1.3x10° m

e s B =

Options :

1908895305. 1



1908895306. 2
1908895307. 3

1908895308. 4

Question Number : 3 Question Id : 1908891344 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Size of the nucleus of atom 15 measured 1n fermi. 1 fermai 1s

1. 108 m
2. 10w
3. 10 m
4. 100 m
Options:
19088953009. 1
1908895310. 2
1908895311. 3

1908895312. 4

Question Number : 3 Question Id : 1908891344 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

UA] % HFATE F HHR GAT H ACT S1ar &1 1 FHA ¢
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=
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Options :

1908895309. 1
1908895310. 2
1908895311. 3

1908895312. 4



Question Number : 4 Question Id : 1908891345 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ok ; : 3 ; ; & 3 b ;

6.65 g of a substance occupies 1.4 emr’. Its density keeping the significant figure in view will be,

.

4.7 glem
2l

4.73 glem
§ o3

4.735 glem

: 3
4.7357 g/em

ol

-

Options:

1908895313. 1
1908895314. 2
1908895315. 3
1908895316. 4

Question Number : 4 Question Id : 1908891345 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T oaTd #76.65 ¢ 1.4 o’ (FITW) ORAT €1 W% 3% FT €O H WA {0 FHH
HOAdT 2T -

47¢ em’
473 ¢ em’
4735 ¢ ey’
47357 g em’

|

Options:

1908895313. 1
1908895314. 2
1908895315. 3

1908895316. 4

Question Number : 5 Question Id : 1908891346 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The position of an object moving alone x-axis is given by x =a + bt", where a=7 m and

2 st . .
b=3m/s” and t 15 1 second. The average velocity betweent=2stot=15 s 1s.
1. 29m/s
2. 2l m/s
3. 14mis
4, Tm/s
Options :

1908895317. 1
1908895318. 2
1908895319. 3

1908895320. 4

Question Number : 5 Question Id : 1908891346 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

X ¥& % WA T B e avg f Rl x=a b @ & mh S a=Tm
T b=3ms T (BFSE HF & t=2:Tt=5-Ffo Fwg a7 ¢ -

29 m/s
21m/s
14 m/'s

T m/'s

b —

e L

Options :

1908895317. 1
1908895318. 2
1908895319. 3

1908895320. 4

Question Number : 6 Question Id : 1908891347 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Two stones A and B are thrown from the top of a building with veloeities v and v/2 respectively
as shown 1n the figure. The time taken by A and B to reach the ground are t5 and tg respectively.
Then,

ta= 2ts
fa= B4
tA=1B

tA=tBn

b —

el

Options :

1908895321. 1
1908895322. 2
1908895323. 3
1908895324. 4

Question Number : 6 Question Id : 1908891347 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



AN BT TN F A N o T FAT VET VLI S AU &F IS £ 5@
Hpfe # fommn @ &1 A 3R B AR aF A H FA: oA} WHT od {79

ta= 2tg
t4= tBy
1= 13

4= tn

o —

Options :

1908895321. 1
1908895322. 2
1908895323. 3

1908895324. 4

Question Number : 7 Question Id : 1908891348 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



As shown 1n the figure. a block of mass M lying on the floor of a lift. The accelaration a with
which the lift should descend so that the mass M exerts a foree Mg/4 on the floor 1s.

R
=]
e |._Jr

i =0 =}

Options :

1908895325. 1
1908895326. 2
1908895327. 3

1908895328. 4

Question Number : 7 Question Id : 1908891348 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

swr % wmpfe & femmn o & gemem MF @3 o & o W g § &,
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Options :

1908895325. 1



1908895326. 2
1908895327. 3

1908895328. 4

Question Number : 8 Question Id : 1908891349 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If the earth stops rotating, the apparent value of g on the surface will.

Increase everywhere

decrease everywhere

remain the same everywhere

mcrease at some placees and remain the same at some other places.

L b bt

.

Options:

1908895329. 1
1908895330. 2
1908895331. 3

1908895332. 4

Question Number : 8 Question Id : 1908891349 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Ife g2t Ui ag L &l . a1 I56 W g F HTHTET AT gET

1. Hd FAdg 94T

2. BT FIAE 9

3. |9 FAE TAA TEIT
4. FT TN W TG AR $T A= TIA W TAA e

Options :

1908895329. 1
1908895330. 2
1908895331. 3



1908895332. 4

Question Number : 9 Question Id : 1908891350 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A spring of spring constant 60 N/m is compressed from 1ts natural length position through 1 em.
The work done by the agency compressing the spring is.

6.0x 1071
6.0x 10°]
3.0x 107
3.0x 107

e s b2 —

Options :

1908895333. 1
1908895334. 2
1908895335. 3

1908895336. 4

Question Number : 9 Question Id : 1908891350 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ForelT FaTelt AR 60 Nim 1 FHET HTA TFiaF FFare Fae ¥ | ¥ g3
Tfea fmam e 31 Fo wied ArE W FEE - 99 I R w1 -

6.0 x 1077
6.0x 1077
3.0x10%
3.0x 1077

b

et

Options :

1908895333. 1
1908895334. 2
1908895335. 3

1908895336. 4



Question Number : 10 Question Id : 1908891351 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A bullet of mass 5 g 1s fired with speed 200 mv/s on a soft plywood of thickness 5 em. The bullet
emerges with only 10% of its mitial kinetic energy. The emergent speed of the bullet 1s.

20m/s
10 «\,-'rl[} m's
100 mv's

20 xﬁ m's

P R

Options :

1908895337. 1
1908895338. 2
1908895339. 3

1908895340. 4

Question Number : 10 Question Id : 1908891351 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Fcnﬁﬂﬁﬁﬂfﬂ?ﬂ@ﬂ?WlOGl}lsﬁWﬁWiﬁ?aﬂﬁmgl Wm
TR e Fa1 F AT 10%F T 7907 2 &) o 1 97 79 £ -

20m's

10 410 m's
100 m/s

20 xE m's

[ s

Options :

1908895337. 1
1908895338. 2
1908895339. 3
1908895340. 4

Question Number : 11 Question Id : 1908891352 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A body at rest breaks mnto two pieces of equal masses. The parts will move,

1. 1in same direction

2. along different direction

3. 1in opposite directions with equal speeds

4. 1in opposite directions with unequal speeds
Options :

1908895341. 1
1908895342. 2
1908895343. 3

1908895344. 4

Question Number : 11 Question Id : 1908891352 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

v F w3 W TA SO F 3 AT F gE AT £ ST AdA g

1. TAe fgem &

2. HoWT - Hedr e #

3. TAR 90 ¥ faolia feam A
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Options :

1908895341. 1
1908895342. 2
1908895343. 3
1908895344. 4

Question Number : 12 Question Id : 1908891353 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

A dise of mass M rolls without slipping on a plane surface so that its centre of mass moves ata
speed of v. Its kinetic energy 1s,

. 34)MV
2. (1I2)MV
3. (UMY

i)

4. Mv

Options :

1908895345. 1
1908895346. 2
1908895347.3

1908895348. 4

Question Number : 12 Question Id : 1908891353 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

geaAa M AT 5w (afore) et woae g6 W faa freew & 38 w9 oW
FAT £ F o gouAe ST @ g AT & AR FA E -

1. 34)MV
2. (1M
3. (14)MV
4. M+

Options :

1908895345. 1
1908895346. 2
1908895347. 3

1908895348. 4

Question Number : 13 Question Id : 1908891354 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The radius of gyration of a solid sphere of radius R about the diameter 1s.

R:
|.—
2.,

| i

3

B
4, Zp
J3
Options :
1908895349. 1
1908895350. 2
1908895351. 3

1908895352. 4

Question Number : 13 Question Id : 1908891354 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Fear RF % 39 es F ufymor Ff Bewr e F 9 1% ¢ -

[ ]

Options :

1908895349. 1
1908895350. 2
1908895351. 3

1908895352. 4



Question Number : 14 Question Id : 1908891355 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Angular speed of a wheel mereased from 1200 rpm to 2400 rpm 1n 8 s. What 1s 1ts angular
accelaration?

2
5r rad/s
:
40 r rad/s”
2
120 = rad/s
2
150 x rad/s

e o

Options :

1908895353. 1
1908895354. 2
1908895355. 3
1908895356. 4

Question Number : 14 Question Id : 1908891355 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

et ofgr fr Fohy T 87 1200 pm F 2400 tpm T SATAT &1 SHPT HIOT a0l
FME

.
5z rad/s”
)
40 7 rad’s
9
190 7 rad/s”
2
150 7 rad/s

e R

Options:

1908895353. 1
1908895354. 2
1908895355. 3
1908895356. 4

Question Number : 15 Question Id : 1908891356 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

The escape speed of a projectile on the earth's surface is ve. A body is projected with 3 v,. The
speed of the body far away from the eatrh is. (1gnore presence of sun and other planets)

2 Ve
4v,

8 v,

e o T

[
i .
2"4‘2 1\‘9

Options :

1908895357. 1
1908895358. 2
1908895359. 3

1908895360. 4

Question Number : 15 Question Id : 1908891356 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

FreY werdt i qoEe T 9 F 7% W vl 0 s 3. F Ay vafd g
IR (‘Hﬁﬁ?ﬂ?@ﬂﬁﬁﬁgﬂj

2 Ve
4v,

8ve

ko =

o

242 Ve

Options:

1908895357. 1
1908895358. 2
1908895359. 3

1908895360. 4

Question Number : 16 Question Id : 1908891357 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A satellite of mass m 15 in a circular orbit of radius 2Rg about the earth. How much 1s the change
of total energy and kinetic energy respectively if the rdius changes to 4 Rg? [Rg = radius of earth.
M = mass of the carth]

GMm GMm
: BR," BRy
GMm GMm

8R; '8R;
GMm  GMm
8R; ' B8Rg
GMm GMm

" 8R; '8R;

Options :

1908895361. 1
1908895362. 2
1908895363. 3

1908895364. 4

Question Number : 16 Question Id : 1908891357 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

m GIA 1 U FTE Gl F Harg =30 2R $1 IR Fo1 A ¢ 3 B
4R @ 1T AFA 51 AR A T F FA: A oG @ Re= 7 A
e, M = 7231 #7 geum)

GMm GMm
B8Ry BRg
GMm GMm

~ " 8R; '8Rg
GMm  GMm

8R; ' BR;
GMm GMm
8R; '8R;

Options:
1908895361. 1
1908895362. 2

1908895363. 3



1908895364. 4

Question Number : 17 Question Id : 1908891358 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Two wires A and B are made of same material, but length and cross-section of B is double that
of A. If Young's modulus of A 1s Y. then Young's modulus of B, Yg will be.

Y,/4
Ya/2
4Y,
Ya

|

N

Options :

1908895365. 1
1908895366. 2
1908895367. 3
1908895368. 4

Question Number : 17 Question Id : 1908891358 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

AN BE AR AW Terd & a9 § W BH FEaE HR HTET TS AT 2 8
AFT T3 F7 q00F Y, £ 7 BF T F q00F Y3 g1

Yad
Ya/2
3. 4Ys
4. Ya

[ =

Options :

1908895365. 1
1908895366. 2
1908895367. 3

1908895368. 4



Question Number : 18 Question Id : 1908891359 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The lower end of a capillary tube 1s dipped 1nto water and water rises through 7.5 em in the
; : : ; 3 : s Y
capillary. Radius of capillary 1s. (g = 10 m/s", surface tension of water =7.5 x 10—"N/m and
1
contact angle between glass and water = 0°, p = 1000 kg/m")

0.2em
2cm
0.2 mm

e

o

2 mm

Options :

19088953609. 1
1908895370. 2
1908895371. 3
1908895372. 4

Question Number : 18 Question Id : 1908891359 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

frdT P ¥ faer Y 1 a1l & e Sar & 3R SR A 75 en T 99 9@
ST 21 TR Fr R g

(2= 10 w/s T F 56 T =7.5x 10" Nm 3R F19 3R T & 77 T

b=

FIT =0°, p = 1000 keg/m’)

. 02em

b

Zem
0.2 mm
2 mm

oh

Options:
1908895369. 1

1908895370. 2



1908895371. 3
1908895372. 4

Question Number : 19 Question Id : 1908891360 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A thermodynamic process, no work is done on or by the gas and the heat absorbed by the gas
goes entirely to change its internal energy 15 called.

. Isothermal
Isobaric
3. Isochoric
4. Adiabatic

Fd

Options :

1908895373. 1
1908895374. 2
1908895375. 3
1908895376. 4

Question Number : 19 Question Id : 1908891360 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

FEARIGF TR 7 Fgomar § o 39 G G w1 omw | e A
HIMRT FoAT FHR HANF Fo F QO fEfdT w0

1. §HATE
HHETET
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4. WE°H

|

LS

Options :
1908895373. 1

1908895374. 2



1908895375. 3
1908895376. 4

Question Number : 20 Question Id : 1908891361 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For monoatomic gas. the molar specific heat at constant pressure 1s. (R = gas constant,
kg = Boltzman constant)

1 3}?
2
5 3

4 2&5
5

21 ER
5

4. Ekﬁ.
Options :

1908895377. 1
1908895378. 2
1908895379. 3

1908895380. 4

Question Number : 20 Question Id : 1908891361 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



fFe thoEre WE ¥ v Aad @@ W AleR fafise st g

(R =30 fe@Tdi. kg = ecadia @aais) :

[ ]

kg

L]
i bibd | Wwka] w

Options :

1908895377. 1
1908895378. 2
1908895379. 3

1908895380. 4

Question Number : 21 Question Id : 1908891362 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A body oscillates with SHM according to the equation.
™
x = 15 cos (EJTt + I) m

At t=2 s, the displacement and speed of the body respectively will be.

15 30m

1. —m,—m/s
2 2

5 15 30m /

. ——m,—m/s
V2 2

3. 15V2 m.EDIrx.-Emfs
4. —15V2m,30mV2m/s
Options :
1908895381. 1
1908895382. 2

1908895383. 3



1908895384. 4

Question Number : 21 Question Id : 1908891362 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T% U3 t= 297 FHEmwwr
¥ =15cos (ZM + E)*n

FHA: g

15 30m
1. —m,—m/s
v2 2
15 30m
Ly me—ip ——ns
V2 2

3. 15V2m,30mV2m/s
4. —15V2m,30m/2m/s

t#msmﬁmmﬁaﬂmﬁlﬁ?aﬂmmm

Options :

1908895381. 1
1908895382. 2
1908895383. 3

1908895384. 4

Question Number : 22 Question Id : 1908891363 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A proton and an electron are placed 1 a uniform electric field. then

The electrostatic forces action on them will be equal
The magmitude of the forces will be equal

bl

3. Their accelaration will be equal
4. The magnitude of their accelaration will be equal
Options:

1908895385. 1
1908895386. 2



1908895387. 3
1908895388. 4

Question Number : 22 Question Id : 1908891363 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

U TolFeld AT e ol gawT fega &7 & g €1 a9

1. 39 W fPdega a« ®far vs A greft
oIl T IATT TF A gE

IART 30T T OHTA Ze

3T TIOT T TRATOT FHH BT

[ )

bW

Options :

1908895385. 1
1908895386. 2
1908895387. 3
1908895388. 4

Question Number : 23 Question Id : 1908891364 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The gold leaf electroscope 1s used for.
detection of charge
measurement of electric field strength

measurement of electric flux
measurement of electrostatic potential

LI S

e

Options :

19088953809. 1
1908895390. 2
1908895391. 3

1908895392. 4



Question Number : 23 Question Id : 1908891364 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Mes oF faggaeeft fFes Pw sgeg gar & 2

1. 39 F § IS
2. faega &7 Jigar #1394

3. TegT wosyw &1 A4

4. RT d4ega fase &1 A=

Options:

1908895389. 1
1908895390. 2
1908895391. 3

1908895392. 4

Question Number : 24 Question Id : 1908891365 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

As shown in the figure. a charge Q 15 at a distance 5 em directly above the centre of a square of
side 10 em. The magnitude of the electric flux through the square,

|

|

q
J-' ¢ 10 em

[—

. Zero
; Q/e
Qe
/66

[ ]

[ SN

Options :

1908895393. 1



1908895394. 2
1908895395. 3

1908895396. 4

Question Number : 24 Question Id : 1908891365 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WHﬁQTQ.lOc111Wé’$Hﬂ$R$WW5c111ﬁ@qg.jmﬁ?mﬁ
T T & T F yAed gaTel Solfded Workd &1 A e -

d

|

5em
J 10 em

l. Qﬂ
Q/e

! Q/2€,
_ Q/6ey

[F N R ]

Options :

1908895393. 1
1908895394, 2
1908895395. 3

1908895396. 4

Question Number : 25 Question Id : 1908891366 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Two charges 8 uC and -2 pC placed at (-9 em, 0.0) and (7em. 0, 0) respectively. How much
work 1s required to separate the two charges infinitely away from each other?

(- - 9 x10® N-m¥Ch
-L;Tro

9.0]

0.0x 1077

9.0x 107

9.0x 107

b =

i

Options :

1908895397. 1
1908895398. 2
1908895399. 3

1908895400. 4

Question Number : 25 Question Id : 1908891366 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

& HEU 8 uC AT -2 uC FAM: (-9 em, 0.0) AT (7 em, 0. 0) W 2T &1 A1 3t
TF g ¥  Fad: W 9% 5@ 5 A0 Fraar F1 F 1 Jaeqhar § 0

g oy
=9x10° N-m”/C)

4 .-'thl

907

9.0x107]
90.0x 10171
0.0x 1017

B o B

Options :

1908895397. 1
1908895398. 2
1908895399. 3

1908895400. 4

Question Number : 26 Question Id : 1908891367 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

The charges accumulated i the two capacitors 2 uF and 4 uF shown in the circuit below

||2pF || 4pF
|| ||
VW VN —————
10Q 20
|
|
oV

respectively will be,

Zero in both the capacitor
12 pC, 24 uC

4uC. 4nC

4uC. 16 uC

| =

g

Options :

1908895401. 1
1908895402. 2
1908895403. 3

1908895404. 4

Question Number : 26 Question Id : 1908891367 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A fer aRor IgER. & qemEr 2 uF 34 oF & FafR 3w Faer: gem

1. g genfEt #
2. 12puC, 24 pC

3. 4pC. 4pC

4. 4nC, 16 puC

Options :

1908895401. 1
1908895402. 2
1908895403. 3
1908895404. 4

Question Number : 27 Question Id : 1908891368 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Find the equivalent resistance of the network shown i the figure between the points A and B -

1. 4r
2r
¥

3

4 r

[

Options :

1908895405. 1
1908895406. 2
1908895407. 3

1908895408. 4

Question Number : 27 Question Id : 1908891368 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



o fgat AR BF @ o 5 Ry & gufr mam §.Aeas &1 e sow w0

[ ]

2r

ir

Options :

1908895405. 1
1908895406. 2
1908895407. 3

1908895408. 4

Question Number : 28 Question Id : 1908891369 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Two resistances R and 2 R are connected in parallel and then to a battery of emf V volt. The ratio
of thermal heating produced in R and 2 R respectively is,

bl =

[ S
— et

R

Options :



1908895409. 1
1908895410. 2
1908895411. 3

1908895412. 4

Question Number : 28 Question Id : 1908891369 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
& SRt R R 2R WAICR 35U &1 4 WAIR WRoRIUF W del & I3 g0
ot emf Ve &1 ##9: R AR 2R HHeRIU & GFRT 3cUee AT FOAT 7 30
FE?

b —

e s
e = 2 =
—_— e e d

Options :

19088954009. 1
1908895410. 2
1908895411. 3

1908895412. 4

Question Number : 29 Question Id : 1908891370 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A long straight wire of circular cross - section of radius a carries a steady current. The magnetic
field in the region r < a and r > a 1s represented by.

[

Bd

Options :

1908895413. 1
1908895414. 2
1908895415. 3

1908895416. 4

Question Number : 29 Question Id : 1908891370 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



2 Brom & queR Ry ufies are e M ar A sufed! on & gaE g
?Irﬂiiiaiﬂ'{1‘ii>a$mwmﬂmmm?

B 4

Options :

1908895413. 1
1908895414. 2
1908895415. 3
1908895416. 4

Question Number : 30 Question Id : 1908891371 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

. 3 : e . . 3

The horizontal component of the earth's magnetic field at a certain place 1s 2.5 x 10™T and along
geographic north-south direction. A very long wire carries current of 2A and lie honzontally
along east - west direction. The force per unit length will be,

2.5x10° Nm
25x10* N/m
5x10° N/m
5% 10% Nm

[ R

o

Options:

1908895417. 1
1908895418. 2
1908895419. 3

1908895420. 4

Question Number : 30 Question Id : 1908891371 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

gt & Jrah 8 F Ao geF & ARea fig W2sx10°17 S B stenfors
T & 3o - e feur F ) v o an S & afcet s # @@ - oftew
ferem # SeT §3 §.F HET 24 URT F GG & ¢ 0 Hawww A 9} v
RIS W del T AT E -

2.5x10° Nm
25x10% Nm
5% 10 N/m
5x 10'4.\1 m

[ =

Ll

Options:

1908895417. 1
1908895418. 2
1908895419. 3

1908895420. 4

Question Number : 31 Question Id : 1908891372 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the circuit shown below, the ammeter is a galvanometer with a resistance Rg = 60Q and shunt
resistance 1; = 0.02Q. The value of the current 1s.

W

®

S.Dﬂé

b —
=
o]
=]
:‘k'D
=g

e s
=
o ]
L)
Caa
=

Options:

1908895421. 1
1908895422. 2
1908895423. 3

1908895424. 4

Question Number : 31 Question Id : 1908891372 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Sar &F A R oftgy # gutar B snfier w A € e
I Re = 60Q 3R 9T Ifae o= 0.02Q &1 50 N9y & 4Ry i AT &

L 4

N
)

0.099A
0.99A
0.33A
0.033A

R N

Options :

1908895421. 1
1908895422. 2
1908895423. 3

1908895424. 4

Question Number : 32 Question Id : 1908891373 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In the magnetic meridian of a certain place. the earth's magnetic field 15 0.60 G and the dip angle
is 60°. What is the horizontal component of the earth's magnetic field?

o
N
2. /3x0.606

3. 030G
4 120G

Options :
1908895425. 1

1908895426. 2

1908895427. 3



1908895428. 4

Question Number : 32 Question Id : 1908891373 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

el AT T R T IR A, g TR a7 0.60 GE 3R A
0T 60° §| Tl & TRy 4 7 4o weF -

0.60
v"'S
J3 x060G

030G
120G

e Ll b2

Options :

1908895425. 1
1908895426. 2
1908895427. 3

1908895428. 4

Question Number : 33 Question Id : 1908891374 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A cycle wheel having diameter of 1.0 m 1s rotated with angular speed of 60 rev/s in a plane
. N ~ _1 = " - .
normal to a magnetic field of 4 x 107 T. The emf produced between axle and rim of the wheel 1s,

Tx10°V
1x 107V
4z x10°V
dr X 102 Vv

o

S )

Options :

1908895429. 1
1908895430. 2
1908895431. 3
1908895432. 4



Question Number : 33 Question Id : 1908891374 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
T WEfhel T H 18 1L0mg I 60 rev's FT FIONT I F 8 Toaa #

T W@ EA F4x 10T F AT TS T g HF WA A &
ZaNT faaT emf 3c9= g 2

Tx10°V
Tx10°V
1z x10°V
1 x 107V

[ S

o

Options:

1908895429. 1
1908895430. 2
1908895431. 3

1908895432. 4

Question Number : 34 Question Id : 1908891375 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In which of the following cases, eddy current 1s not used to our advantage?

transformer
electromagnetic braking
mnduction furnace
electromagnetic damping

b

TR

Options:

1908895433. 1
1908895434. 2
1908895435. 3

1908895436. 4

Question Number : 34 Question Id : 1908891375 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Aefof@a & ¥ F 2T &, 97 9T FT 39ART AR Agr &1l ¢ 2
1. IRAGHT

2. 4T - IFEHT HIA

3. 90T HEY

4. 9IS - FFEHT HIAGH
Options:

1908895433. 1
1908895434. 2
1908895435. 3
1908895436. 4

Question Number : 35 Question Id : 1908891376 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Figure shows the variations current 1 with angular frequency w i series RLC series circuit. The
two curves are due to variations of :

NG

L
C
LandC
R

W

Je Tl bl

Options :

1908895437. 1



1908895438. 2
1908895439. 3
1908895440. 4

Question Number : 35 Question Id : 1908891376 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

7 T o R rLC Ao oftuy # Sl amgfrw § e e g1 @ w
T F IRET FT FROT FE 0

NS

L
o
. LARC
R

W

e e b =

Options :

1908895437. 1
1908895438. 2
1908895439. 3

1908895440. 4

Question Number : 36 Question Id : 1908891377 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In a transformer. laminated iron core 1s used to reduce the loss due to.

Flux leakage

Resistance of the windings
3. Eddy currents

4. Hysteresis

b

Options :

1908895441. 1
1908895442. 2
1908895443. 3

1908895444. 4

Question Number : 36 Question Id : 1908891377 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ITHHET F HT TANT e F I F 3999 FEHr @7 1 77 T2 F v Fa
AATE 0

| vy frame

. FUSAA F FieRY
3. ¥ U

4. T

[

Options :

1908895441. 1
1908895442. 2
1908895443. 3

1908895444. 4

Question Number : 37 Question Id : 1908891378 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



An object placed 6 em 1n front of a concave mirror of radius of curvature 15 cm. The position of
the image will be

18 em behind the mirror
18 cm 1n front of the mirror
36 cm behind the mirror
36 cm 1n front of the mirror

bed bt

b

Options:

1908895445. 1
1908895446. 2
1908895447. 3
1908895448. 4

Question Number : 37 Question Id : 1908891378 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

wﬁ?wmaﬂmﬂﬁcmﬁqﬁwmw?mwﬁm15cm?|
3W% ZAN T Tiataed S A w7 gnt o

.E\'ﬁ'ﬂTlﬂ'lScmfﬁﬁﬁm
.E&W'ﬂ'lScmHﬁTﬁiﬂT
.E&W'@'Sﬁcm%ﬁm
.E&Wlﬂ'iﬁcmiﬂfﬁﬁ'm

[

—t

L3

o

Options :

1908895445. 1
1908895446. 2
1908895447. 3

1908895448. 4

Question Number : 38 Question Id : 1908891379 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In thick lenses. chromatic aberration 1s due to.

scattering of light

total internal reflection of light
disperson of light

interference of light

b

5w

Options :

1908895449, 1
1908895450. 2
1908895451. 3

1908895452. 4

Question Number : 38 Question Id : 1908891379 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

THF A AT H I Ruyya P FROT T AT £
1. 9T &F Yol

ST FT ol HANH T

T2l T Fegor
4. 9T FT ATIHIOT

[ ]

L

Options :

1908895449, 1
1908895450. 2
1908895451. 3

1908895452. 4

Question Number : 39 Question Id : 1908891380 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In a microscope. objective focal length f, = 1.0 em. eye piece focal length f. = 2.0 cm and tube
length L = 20 ¢m. If the 1mage 1s formed at infinty. the magnification 1s. (take near point
distance D =25 ¢m)

| )

3
50
5.0
500

B e R
LR T ]

Options :

1908895453, 1
1908895454. 2
1908895455. 3

1908895456. 4

Question Number : 39 Question Id : 1908891380 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

e gemeelt % fdwems & vied gl f,= 1.0 oo, A0 BFF gL =20em 3N
7T T L =20 em§| 3N SHH Taea Jedd T I § a 35 JaUa
forear g (781 W fe fag gD =25 em)

[ Y
-
]

[ N ]

th LN I
Lo T [ ]
=

Options :

1908895453. 1
1908895454, 2
1908895455. 3

1908895456. 4

Question Number : 40 Question Id : 1908891381 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



When light travels from a rarer to a denser medium. the characteristics of light that will change.

frequency of the wave
energy carred by wave
amplitude of the wave
speed of the wave

[

b

Options :

1908895457. 1
1908895458. 2
1908895459. 3

1908895460. 4

Question Number : 40 Question Id : 1908891381 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

9 g [Oe ¥ gue Anegs fr 56 AT a7 8, o9 g fr s o
ffersear & 37ay 3mwem 2

1. @ $ smfea
T F N qMMEd FaAr
3. O T HEAH
4, & Fr AT

[ ]

Options :

1908895457. 1
1908895458. 2
1908895459. 3

1908895460. 4

Question Number : 41 Question Id : 1908891382 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Light of wavelength 6000 A is coming from a star. What is the limit of resolution of a telescope
whose objective has a diameter of 250 cm ?

15x107rad
1.5% 10 rad
29%107 rad
2.9% 105 1ad

[ =

ol

Options :

1908895461. 1
1908895462. 2
1908895463. 3
1908895464. 4

Question Number : 41 Question Id : 1908891382 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

UF a ¥ forer TaTer &1 a0 E4 6000 A &) 0 o foms #ffens &
ST 250 em £, 37 el & fFstea 61 drar Far aef 2

15x107 rad
15x10% rad
29x107 rad
29x 108 rad

b =

e

Options:

1908895461. 1
1908895462. 2
1908895463. 3
1908895464. 4

Question Number : 42 Question Id : 1908891383 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Light of frequency 6.0 x 10" Hz is produced by a laser. The energy of a photon in the light beam
is, (h=6.63x10% I )

3.08x 107
3.98x 107
3.98x 107"
3.98x 1071

[ U - pr—

Options :

1908895465. 1
1908895466. 2
1908895467. 3
1908895468. 4

Question Number : 42 Question Id : 1908891383 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AR gRI Ieuw UBIQT &t gy 6.0 x 101 Hz 8| Te1ar &iw & whiete i Bt g,

h=6.63x10%75)

3.98x 1087
3.98x 1077
3.98x 1077
3.98x 10717

N e

Options :

1908895465. 1
1908895466. 2
1908895467. 3

1908895468. 4

Question Number : 43 Question Id : 1908891384 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The wave nature of electrons was first experimentally verified by.

de Broglie

Millikan

Albert Einstein
Davisson and Germer

b

o

Options :

1908895469. 1
1908895470. 2
1908895471. 3

1908895472. 4

Question Number : 43 Question Id : 1908891384 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
TSI T T TR FT TI9UH FAEF Feara foraa fma 2

1. 31 Sl
IFIGCT

Hede HTEHe=A
. 3fFEe AT I

| o]

5w

Options :

19088954609. 1
1908895470. 2
1908895471.3
1908895472. 4

Question Number : 44 Question Id : 1908891385 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



What 15 the wavelength of radiation emitted when the electron m a hydrogen atom jumps from
n=o ton=2(h=414x 10" eVs)

1. 365am

2. 365A

3. 365 um

4. 365%10%m
Options :
1908895473. 1
1908895474, 2
1908895475. 3

1908895476. 4

Question Number : 44 Question Id : 1908891385 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ﬁ%ﬁg@mm#sﬂﬁh n=w 1#11=2$H#wm%‘aa’.a’rﬁw
2T EN 3T dITeed & g1em? (h=414x 107° eVy)

365 nin

365 A

365 um
365x10%m

| S

g e

Options :

1908895473. 1
1908895474. 2
1908895475. 3

1908895476. 4

Question Number : 45 Question Id : 1908891386 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The minimum orbital angular momentum of the electron in a hydrogen atom 1s -

h
h/2
hi2x
h'x

b =

o

Options :

1908895477. 1
1908895478. 2
1908895479. 3

1908895480. 4

Question Number : 45 Question Id : 1908891386 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

SIS W] H T F ~AdH Fa1T FIUNT TS F4 e 2

h
h/2
hi2x
W

L R

i

Options :

1908895477. 1
1908895478. 2
1908895479. 3

1908895480. 4

Question Number : 46 Question Id : 1908891387 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Two nucle1 x and y have mass members 64 and 27 respectively. The ration of the volume Vx/ Vy

will be,

[
— o e On

Options :

1908895481. 1
1908895482. 2
1908895483. 3

1908895484. 4

Question Number : 46 Question Id : 1908891387 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

ar ATF x 37 ) T Seoae T'r FA 64 3T 2781 39 A¥AA Ve Vy
HAIIT £

e Lad b

Options :

1908895481. 1
1908895482. 2
1908895483. 3

1908895484. 4

Question Number : 47 Question Id : 1908891388 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



In the following g~ decay.

. .

uNa = jjNa+ X +Y

X and Y are respectively are.

electron and nutrino
electron and antinutrino
positron and nutrino
positron and antineutrino

b =

N N

Options:

1908895485. 1
1908895486. 2
1908895487. 3
1908895488. 4

Question Number : 47 Question Id : 1908891388 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A RUT AT T H

o

1iVa - {iNa+ X +Y, qgf q7 X 3T Y AT

. FoIFg AR g
. el 3R T Fgdat
. O 3R e
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Options :

—
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s

1908895485. 1
1908895486. 2
1908895487. 3

1908895488. 4

Question Number : 48 Question Id : 1908891389 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A message signal of frequency 15 kHz and peak voltage 15 V 15 used to modulate a carrier
frequency 1.5 MHz and peak voltage 30 V. The modulation index is -

2.0
0.5
100.0
0.01

ol bk

o il

Options :

1908895489. 1
1908895490. 2
1908895491. 3

1908895492. 4

Question Number : 48 Question Id : 1908891389 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
T Fee o Tod famedl agfed 15kHz #X T diee 159102 €1 30F UF I8+
Fafed 1.5 MHz 3R T# alee 303ee T Alglaa 1 75 €| T@ W Ao
TTHF £

2.0
0.5
100.0
0.01

b2 =

e s

Options :

19088954809. 1
1908895490. 2
1908895491. 3
1908895492. 4

Question Number : 49 Question Id : 1908891390 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

In a full wave rectifier using double diode, an alternating voltage of frequency v is given at the
input. The output voltage will have a frequency,

v/2

|

o
=
4

Options :

1908895493. 1
1908895494, 2
1908895495. 3
1908895496. 4

Question Number : 49 Question Id : 1908891390 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

T O o et A % fg - s/ls T@ar 81 3§ 3R W U v AEhed #
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Options :

1908895493. 1
1908895494, 2
1908895495. 3

1908895496. 4

Question Number : 50 Question Id : 1908891391 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



As shown in the figure. the output Y from a logic gate having input signals A and B. The gate 1s.

T

(Qutput)

. AND Gate
. NOT Gate

. OR Gate

. NAND Gate

o =

N )

Options :

1908895497. 1
1908895498. 2
1908895499. 3

1908895500. 4

Question Number : 50 Question Id : 1908891391 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



g BT v BT & F difas 9 OEH 39d AR BE # YW e Fw gm0

A ——

(Input) !
B——_i» —
¢ 311 L

(Output)

1. ANDE
2. NOT?®
3. ORTT

4. NAND 91T

Options :

1908895497. 1
1908895498. 2
1908895499. 3

1908895500. 4

Part B Chemistry

Section Id : 19088940
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50

Section Marks : 200

Enable Mark as Answered Mark for Review and
Yes
Clear Response:

Sub-Section Number : 1



Sub-Section Id : 19088966

Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 1908891392 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

List I |List IT
Structures Polymers
Ph
{\/M I. Polyacrylonitrile
A n
mﬂ II. Buna-S
B. CN
CN
IRJ/W% III. Neoprene
C. n
'{‘Wﬁ IV. Buna-N
D. Cl

Choose the correct answer from the options given below:

1. A-II B-IV, C-1. D-II
2. A-IL B-IIIL C-IV. D-I
3. A-IV. B-I, C-II. D-III
4. A-IL B-1. C-IV. D-III

Options :

1908895501. 1
1908895502. 2
1908895503. 3

1908895504. 4

Question Number : 51 Question Id : 1908891392 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

T IR g -1 & gAfT ffeT

-1 T -11
— J
Ph
W\} I mﬁmi%ﬁllﬁﬁi Sel
ﬂ's. n
{/Efn IIL &7 - S
J oy
B.
CN

A 1. fA3iite
C.
ui e V.1 - N

A QU av R{ewedt # @ |8 3eaR giav

A-III B-IV. C-I. D-II
A-IT, B-III, C-IV, D-I
A-IV, B-1, C-II. D-III
A-IT. B-I. C-IV. D-III

b i

oW

Options :

1908895501. 1
1908895502. 2
1908895503. 3

1908895504. 4

Question Number : 52 Question Id : 1908891393 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List I List IT

Drugs ‘Role

A. Penicillin I. Antihistamine

B. Tetracycline IT. Bactericidal antibiotic
C. Aspirin \III. Bacteriostatic antibiotic

D. Bromopheniramine [IV. Analgesic

Choose the correct answer from the options given below:

1. A-II B-III. C-IV. D-I
2. A-IL B-II, C-1IV, D-I
3. AL B-III C-L D-IV
4. A-II B-IL. C-L. D-IV

Options :

1908895505. 1
1908895506. 2
1908895507. 3

1908895508. 4

Question Number : 52 Question Id : 1908891393 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



g I F AT -1 gATT Y

T -1 gt -1

Fhweft F

PRI IEG IR IR TAT: G

B. CZTHTS ol I1. Sl gfasifas

C. TiEaR= 111, Sframe] el gfasifas
D. SAFATHT IV, ey

A= ffT av west # ¥ W@ 3o} g

A-II. B-III, C-IV. D-I
A-IIL B-1I, C-IV, D-I
A-II, B-III, C-1. D-IV
A-III B-1I. C-L D-IV

| ]

il

Options :

1908895505. 1
1908895506. 2
1908895507. 3
1908895508. 4

Question Number : 53 Question Id : 1908891394 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Identify the reaction(s) which do not give n-propyl benzene as a major product:

@ 1. CH;CH,COCI + AICI, /A
2.Zn-Hg /HCI

A.

1. CH3CH,COCI + AICl5 / A
2. NHoNH, / 0H

B. :

@ CH4CH,CH,CI + AlCI5 / A
54
o &

'1!'

CHSCH=CH2 + stod

¥

Choose the correct answer from the options given below:

A only
A and B only
C and D only

D only

bt

-

Options:

19088955009. 1
1908895510. 2
1908895511. 3
1908895512. 4

Question Number : 53 Question Id : 1908891394 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



farT sffRanst # qgae oEH o - NS el Y@ 3ee A6 S ¢
@ 1. CHaCH,COCI + AlCl; /&4
2.Zn-Hg /HCI

@ 1. CHaCH,COCI + AlCl /2
B 2. NHoNH, 7 ®0H

@ CHaCH,CH,Cl + AICI; / A
C.

@ CH.CH=CH, + H,S0, _
D.

AR R T et # F W SR T

A

1. &ddl A
. FaTAIR B
. Fad CHR D
4, FFA D

[ ]

L]

Options:

19088955009. 1
1908895510. 2
1908895511. 3
1908895512. 4

Question Number : 54 Question Id : 1908891395 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



The structure of A 1n the following reaction 1s:

1. Hy0*

KMnOLKOH/ A 2 LiAIHg ! Ether
@-CH;CH:CH;, = A = LS @CH;DH
3. H0

@—COC-H
1.
@—CH;CC@H
G
3.
Oyt
4,

Options:

[ )

1908895513. 1
1908895514. 2
1908895515. 3
1908895516. 4

Question Number : 54 Question Id : 1908891395 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Arataai@a ¥ 7 A FEar ¢

1. H,0*

KMnO~KOH/ A 2 LiAIH, | Ether
@CHQCHQCHE = A = - @CHEDH
3. H0

()coor
1.
Q_c H,COO0H

| -]

Options :

1908895513. 1



1908895514. 2
1908895515. 3

1908895516. 4

Question Number : 55 Question Id : 1908891396 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following alkanes cannot be obtained by Kolbe's electrolytic method?

Ethane
Butane
Propane
Octane

ok

oo

Options:

1908895517. 1
1908895518. 2
1908895519. 3
1908895520. 4

Question Number : 55 Question Id : 1908891396 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Fod H YA youeey Y g@m Mfaf@d & & S &1 tohd g 1
ST T 27

2.
3. g
4, A

Options :
1908895517. 1
1908895518. 2



1908895519. 3

1908895520. 4

Question Number : 56 Question Id : 1908891397 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

For the given reaction:

A
2CHACH4 + Oy T 2CHLCOOH + 2H,0
ed

What 1s ‘A*?
Mn(CH;COO),
HCl

H,O
O3

b

o

Options :

1908895521. 1
1908895522. 2
1908895523. 3

1908895524. 4

Question Number : 56 Question Id : 1908891397 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



&r sy A

ECHE{:HE + Dz

2CH.COOH + 2H,0

Heat
A'FIOT § 2
1. Mn(CH3;COO);
2. HCI
3. H,O
4. O3
Options:

1908895521. 1
1908895522. 2
1908895523. 3
1908895524. 4

Question Number : 57 Question Id : 1908891398 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following compounds/ions 1s an electrophile?
SiHy
CHy
NH;
H-O

R R

Options :

1908895525. 1
1908895526. 2
1908895527. 3

1908895528. 4

Question Number : 57 Question Id : 1908891398 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



AefafEa # ¥ S ar 3= / 339 =g § 2

SiHy
CH.
NH;
H,O

Ll b

o

Options :

1908895525. 1
1908895526. 2
1908895527. 3
1908895528. 4

Question Number : 58 Question Id : 1908891399 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

In detection of hydrogen in organic compound. it 1s firstly oxidized to HyO with reagent X with
heating. ‘X’ 1s:

1. CaO

2. CuO

3. CuS04.5H,0

4. CuSOy
Options:
1908895529. 1
1908895530. 2
1908895531. 3

1908895532. 4

Question Number : 58 Question Id : 1908891399 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



FEferF Ti0F & TS F T F v FEfEE AfF F7 9ge wfiEE s XF
T TE WS H0 T FFEET A A §| FEwew XY

CmO

CuO
CuS0,4.5H,0
CuSOy

e el D

Options :

19088955209. 1
1908895530. 2
1908895531. 3

1908895532. 4

Question Number : 59 Question Id : 1908891400 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
a-Helical structures of protein i1s mainly stabilized due to:

London force of dispersion
Disulphide bonds

Hydrogen bonding
Electrostatic force of attraction

b

ot

Options :

1908895533. 1
1908895534. 2
1908895535. 3
1908895536. 4

Question Number : 59 Question Id : 1908891400 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



ST T o-gfoFe §=ar vHEaan ¥ FNOT FTAE FT £

1. ¥sH 9&qur I
. SIEHOWISE HEY
. Foegm T 3w

e L¥¥) [

Options :

1908895533. 1
1908895534. 2
1908895535. 3
1908895536. 4

Question Number : 60 Question Id : 1908891401 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following sugars cannot reduce Tollen’s and Fehling’s reagent?

Sucrose
Fructose
Maltose
Lactose

bt

& ow

Options :

1908895537. 1
1908895538. 2
1908895539. 3

1908895540. 4

Question Number : 60 Question Id : 1908891401 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



famafof@a & & #i7 o R @a 3R Sow wfiwds 9t 3meie & = e
g7

3. Aeard
4, ofFT

Options :

1908895537. 1
1908895538. 2
1908895539. 3

1908895540. 4

Question Number : 61 Question Id : 1908891402 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Grven below are two statements. one 15 labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: Bromobenzene reacts with sodium methoxide at room temperature to give anisole.
Reason R: Sodium methoxide 15 a base.

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A is correct but R 1s not correct

A 15 not correct but R 15 correct

|

il

Options :

1908895541. 1
1908895542. 2
1908895543. 3

1908895544. 4



Question Number : 61 Question Id : 1908891402 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A 3 99 6T 70§ UF F HAFUT (A) #R ZE F FROT (R) FET T £

RS (A) AT BTN FUFEES T FA F 99 W {0FT 75 98
& ¢l

FNOT (R) : WIETH AYFAES TF & ¢

IEFT FUA F FeF F A GFwen # ¥ T I o

—

(A IR R)TA T E AR (R). (A) FT T e g

- (A) ¥R (R) 2T T T (R). (A) FT WE A
. (A)TE & W (R)FE R

. (A) T A § g (R)FE R

Options :

4’; L I -

1908895541. 1
1908895542. 2
1908895543. 3

1908895544. 4

Question Number : 62 Question Id : 1908891403 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Arrange the following species in decreasing order of basic nature:

o =] =
ﬂ-%ﬂ; B- OCHs, (. D@; D - G@CH

>C=B>=A
=A=D=C
=D=B>=A
>C>A>H

B
for e



Options :

1908895545. 1
1908895546. 2
1908895547. 3

1908895548. 4

Question Number : 62 Question Id : 1908891403 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

frfafEa afaal & 39 &N 96T & ged F7 A ey

=) 2
A—%H; B—EDCH3; C- D@; D- DQCH3

1. D>C>=>B=A

2. B>A>D>C

3. C>D>B>A

4 D>C=>A>B
Options :

1908895545. 1
1908895546. 2
1908895547. 3

1908895548. 4

Question Number : 63 Question Id : 1908891404 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following compounds would undergo Syl reaction faster?

g

e

Options :

1908895549. 1
1908895550. 2
1908895551. 3

1908895552. 4

Question Number : 63 Question Id : 1908891404 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fArfeaf@a diffmt 7 @ Fia ar s ash F syl JfAfRar Som 2

CH,Cl

e

CHuCI

Q

CHaCI

£

, O

Options:

| ]

L]



1908895549. 1
1908895550. 2
1908895551. 3

1908895552. 4

Question Number : 64 Question Id : 1908891405 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following compounds has maximum boiling point?

Options :

1908895553. 1
1908895554. 2
1908895555. 3

1908895556. 4

Question Number : 64 Question Id : 1908891405 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



FTaEa 7 9 &g aifs &1 F9uas 3hsaa § 2

[ )
|:_'.|

3.
é
£ =
Options :

1908895553. 1
1908895554. 2
1908895555. 3
1908895556. 4

Question Number : 65 Question Id : 1908891406 Question Type

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Select the incorrect statement for classical smog.

1. It occurs in cool humid climate.
2. TItis also called as oxidizing smog.

Eaa

It 1s a muxture of smoke. fog and sulphur dioxide.
4. A mixture of smoke. fog and sulphur dioxide 1s reducing.
Options :

1908895557. 1
1908895558. 2
1908895559. 3

1908895560. 4

: MCQ Option Shuffling : No Is



Question Number : 65 Question Id : 1908891406 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT YH FE0 F o0 Tod FI7 F I

1. % 3% 7 Foag # g 2l

2. FHS HFHFRF g7 FEO A FE 2

3. TFT YA.FIE U9 Tow] IEHTFASS F1 HS07 £

4, YA FET AT TeH IEHFASS FT HHUT TF HT=0+ £

Options :

1908895557. 1
1908895558. 2
1908895559. 3

1908895560. 4

Question Number : 66 Question Id : 1908891407 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Zwitter 10n 15 formed when aniline 1s treated with:

Acetic anhydride in pyridine.

A mixure of nitric acid and sulphuric acid at low temperature.
Cone. sulphuric acid followed by heating at 200 €.

Conc. nitric acid at high temperature.

L FI S

-

Options :

1908895561. 1
1908895562. 2
1908895563. 3

1908895564. 4

Question Number : 66 Question Id : 1908891407 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

IHAMESE JTTA I9 F4aT £ 79 Uaela Fr 3R wua &

1. Rfdw # ofafes dagreees o

FH A9 T A=RCH 3Fa AR Torde 3Fa & FH0T §
. WIE TeFIRF 3 3T a1¢ 200°C I9 W TH FA b
4. 3T A9 T Hieg ASeH 7T T

[

faa

Options :

1908895561. 1
1908895562. 2
1908895563. 3

1908895564. 4

Question Number : 67 Question Id : 1908891408 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The most basic nitrogen 1n the given molecule 1s:

O (B)
- NH2
HoN™ B
NH->
(C)
Wt
D)
1. A
2 B
3 C
4. D
Options :

1908895565. 1

1908895566. 2



1908895567. 3
1908895568. 4

Question Number : 67 Question Id : 1908891408 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

few arw 307 F W HF S ASISA FeT WE 2

O &
s NH,
HoN  —
NH
W W e
()
1. A
2. B
3.
.
Options :

1908895565. 1
1908895566. 2
1908895567. 3

1908895568. 4

Question Number : 68 Question Id : 1908891409 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements
. d 1 i . A 4
Statement I: The 2™ and 3™ transition-series exhibit similar radii.

Statement II: The perfect shielding of the one clectron by another 1n the same set of orbitals m a
transition series.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement IT 1s incorrect
Statement I 1s incorrect but Statement II 1s correct

Je o b

Options :

19088955609. 1
1908895570. 2
1908895571. 3
1908895572. 4

Question Number : 68 Question Id : 1908891409 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A 3 Fua g oo §

FUT - 1: Zf3d 0F gT A - 4ot T P gaidr E

FUF - 11 TF THAT A0 & Fa7 F 0F & GTH 0F o 1 gL @ o
HTEIUT 979 2T 2

IFT YA F WA 7 faetared Reedt # ¥ w9 3o I

1. F9 1HT 13T w8 E

2. FUF 1 AT 134 HEr AL

3. U 198 ¢, e Fua 1 wE 71 2|
4. FUS 1HE 7 8. g FuT IHE B

Options :



1908895569. 1
1908895570. 2
1908895571. 3

1908895572. 4

Question Number : 69 Question Id : 1908891410 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 15 labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: The dissociation enthalpy of Cl, 1s higher than F.
Reason R: Larger electron-electron repulsion among the lone pair in Fy molecule,

In light of the above statements. choose the most appropriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A is correct but R 1s not correct

A 15 not correct but R 1s correct

b —

S )

Options :

1908895573. 1
1908895574. 2
1908895575. 3
1908895576. 4

Question Number : 69 Question Id : 1908891410 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A 21 Fud T AT § ;v F HRFA (A) 3R GE FTFNOT (R) FT AT 2

HFFT (A): CLFr e =, ¥ 3w 2 £

FNO (R): F, 70 & THEH T7AT F ToFgA-3orag Tihsur a1 g

SFT FUA F HEF F rAiFa FEed # F TE 3R I

[e—

mam )3T WEr # 3T (R). (A) Fr wE @ E
RJaﬁ?r’rFé‘r'a*m—rrm )T TET e 77 g

.Lw?r%‘mﬁmﬁaﬁm

(A) HEr 7T € T (R) W 2

e L] | ]

Options :

1908895573. 1
1908895574. 2
1908895575. 3

1908895576. 4

Question Number : 70 Question Id : 1908891411 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Arrange oxidising ability of following compounds in the inereasing order:

SO;, Se0;, TeD,

TeO; < Se0: < SOy
SO < 85e0y < Te
SO <TeD; < 50,
TeOr <850 < S5eM

FEN T Y

Options :

1908895577. 1
1908895578. 2
1908895579. 3
1908895580. 4



Question Number : 70 Question Id : 1908891411 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

et T S0y, Se0, AT TeO, FT HFHFI0 &HAT F 78 FH F T LU
Ealh

Te(Qr < 8e0 <80
SO <5e0) < Teh
SO; < Te0, < Se0,
TeOy < S0y <SeOy

[ =

el

Options :

1908895577. 1
1908895578. 2
1908895579. 3
1908895580. 4

Question Number : 71 Question Id : 1908891412 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one is labelled as Assertion A and the other 15 labelled as
Reason R

Assertion A: Heavier elements of group 15 do not form pr-pr bonds.
Reason R: Atomic orbitals are diffuse in nature and they cannot overlap effectively,

In light of the above statements. choose the most appropriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A is correct but R 15 not correct

A 15 not correct but R 1s correct

b ek

s

Options :

1908895581. 1



1908895582. 2
1908895583. 3

1908895584. 4

Question Number : 71 Question Id : 1908891412 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A g Fua for AU §  vF T AU (A) #T TE FOFROT (R) FET A B
FEFAT (A): T 15F 98 379 prpr FRY AL TS &

FN (R) : TWANTH F&7H FHNT THd F 29 & AT T ToE T § Higeana
76l & W €

3T FYAT F WA A fawitea oo # § 9 3o I

A) HT (R) g4 TEr & 37 (R). (A) F TET urE

A) IR (R) SN TEr § Weq (R). (A) T Tl WA A&
(A) WET § g (R) TET LT &

(A) T 7§ g (R) T B

L (
(

[

L]

e

Options:

1908895581. 1
1908895582. 2
1908895583. 3
1908895584. 4

Question Number : 72 Question Id : 1908891413 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following statements related to froth floatation method 1s incorrect?

Xanthates enhance non-wettability of the mineral particles
Pine oils stabilize the froth

Depressants are used for separating two sulphide ore

NaCN 1s used as depressant for ores contamning PbS and ZnS

bl

i

Options :

1908895585. 1
1908895586. 2
1908895587. 3
1908895588. 4

Question Number : 72 Question Id : 1908891413 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

fafofET v v Fu=t # ¥ Fi7 91 Fua 67 voad [ F g9y # w9 @
g7

1. ST e FOT i FFSAITTT F AT T B

2. 5 # 5 B FT BT & B

3. HaAHH! F IR o7 TOHES HAER A [9F F # Ha1 T g
4. NaCN FT 393" PbS 3R ZnS HITH # 978+ & &7 F giaT £

Options :

1908895585. 1
1908895586. 2
1908895587. 3

1908895588. 4

Question Number : 73 Question Id : 1908891414 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements. one is labelled as Assertion A and the other is labelled as
Reason R

Assertion A: Melting point of gallium 15 lesser than aluminium.
Reason R: Due to mnert pair effect, increased effective nuclear charge hold ns-electrons tightly.

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A 15 correct but R 1s not correet

A is not correct but R is correct

e

il

Options :

19088955809. 1
1908895590. 2
1908895591. 3

1908895592. 4

Question Number : 73 Question Id : 1908891414 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A g Fu U AT ¢ ¢ O F #fRFAF (A) 3 FH F FROT(R) FT A g

HEFUA (4) : AOTR F ToAF AR § FA £

FIOT(R) : AT T7H 1T F FROT TaT FH ATHHT JHT ns FoIFemal F el
¥ a1 @ gl

FYF FUA F el & it et & ¥ 3R] o

—

. (A)#R (R) 34 T E AN (R). (A) FT T <A

(A) T (R) = WET & T (R). (A) #T T <ArEA A L
(AT E T (R) T B

. (A)HE € =g (R)FE B

L% | ]

o

Options :



1908895589. 1
1908895590. 2
1908895591. 3

1908895592. 4

Question Number : 74 Question Id : 1908891415 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match the compound name in List I with their formula given in List II

List I List IT

A. Dead burnt plaster |I. Ca(OH): (aq)
B. Gypsum 17 {:'350-4 |

C. Plaster of paris III. CaS504.2H20
D. Lime water IV. CaS04.%-H>0

Choose the correct answer from the options given below:

A-ILB-NIL.C-II.D-IV
A-II.LB-NIILC-IV.D-1I
A-IILB-IV.C-IILD-I
A-ILB-NIIL.C-IV.D-1I

LT

e

Options :

1908895593. 1
1908895594. 2
1908895595. 3

1908895596. 4

Question Number : 74 Question Id : 1908891415 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T - 1% T v A A A gE - 17 R a0 5w 57 @ gafea w1

Tt -1 gl -11

A Hd Afd weeey 1. Ca(OH); (aq)

B. Prcas 1. CaS0y4

C. TaTFel A wiRE L. CaS04. 2H,0
D. T & I IV. CaS04.%:H,0

ARy R T Redt # ¥ WE S S

A-LB-IL.C-IILD-IV
A-TIILB-II.C-IV.D-I
A-ILB-IV.C-IILD-I
A-LB-ILC-IV.D-1II

R T e

Options :

1908895593. 1
1908895594. 2
1908895595. 3
1908895596. 4

Question Number : 75 Question Id : 1908891416 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Grven below are two statements. one 15 labelled as Assertion A and the other 15 labelled as
Reason R

Assertion A: Reduction of lithium with water 15 less vigorous than that of sodium.
o . 2]
Reason R: Lithium has most negative E” value.

In light of the above statements. choose the most appropriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A is correct but R 1s not correct

A 15 not correct but R 15 correct

b

i



Options :

1908895597. 1
1908895598. 2
1908895599. 3
1908895600. 4

Question Number : 75 Question Id : 1908891416 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A & FU AU A0 § ;v A AAFYT (A) 3N GEY FFROT(R) FET AT g

HIFFUF (A) : NTYTF F7 WETH F 10T 9 F WY HOHA FH ST F4T 2
FROT (R) : ofwH 1 E° A1 gaw affrss 2 ¢

3T FUAI F HAF F rAfed FFedt # ¥ W@ 5o/ g4

[a—

(A) 3T (R) 3T |Er 3R (R). (A) FT TR =
(A) 3T (R) T FET & Tq (R). (A) FT WET =aream 7 2
(A) TET § g (R) W 71dT ¢

(A) HEr T & T (R) W B

Options :

| ]

L]

=y

1908895597. 1
1908895598. 2
1908895599. 3

1908895600. 4

Question Number : 76 Question Id : 1908891417 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



'X' 1s formed as a major product by electrolyzing hot aqueous solution of barium hydroxide
between nickel electrodes. X' 15

H)0,
H;

BaO»
BaH>

[

g

Options :

1908895601. 1
1908895602. 2
1908895603. 3

1908895604. 4

Question Number : 76 Question Id : 1908891417 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

ferdher goergrel & dra aRTW grEgEraTSs & T STl fderae & degd wHes H
¥ X U YW 3cUG & & F q §l X B

H)0,
H;

Ba0;
BaH>

b

A

Options :

1908895601. 1
1908895602. 2
1908895603. 3
1908895604. 4

Question Number : 77 Question Id : 1908891418 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A B C
S¢(s) + 12NaOH (ag) ———— 4NaS(aq) + 2Nay$,05 (aq) + 6H,0 ()

The oxidation state of sulphur in the given equation are A. B and C.

A B and C are respectively

+

B

b g &

H e S0

Lo o
i

4+ p =2y

[ S

Options :

1908895605. 1
1908895606. 2
1908895607. 3

1908895608. 4

Question Number : 77 Question Id : 1908891418 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A B C
S () + 12NaOH (ag) —————d 4NaS (ag) + N&y$,05 (aq) + 6H,0 ()

FowT & AT aeurd v v gHEer 7 A B AR cE| A.B 3R cFA: €

I o
1 ] C:'.

- [l

U=

[ ] "

|,_,'-*|t

[ ]

'

ro
4

[ S

Options :

1908895605. 1
1908895606. 2
1908895607. 3
1908895608. 4



Question Number : 78 Question Id : 1908891419 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Arrange the following in the increasing order of dipole moment:
CHa, CCly, CHCI3

CHs < CCl4 < CHCl;
CHys < CHCL < CCly
CH; = CCly < CHCl;
CH4 < CCly = CHCl;

|

o w

Options :

19088956009. 1
1908895610. 2
1908895611. 3
1908895612. 4

Question Number : 78 Question Id : 1908891419 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
fArfafad 1 gfaya 3T F Jed FA F aredd #
CH,. CCly, CHCl3

CHy4 < CCly < CHCl;

CH4 < CHCl; < CCly

CH;=CCls < CHCL
CHy < CCly = CHCl

L

o

Options:

19088956009. 1
1908895610. 2
1908895611. 3
1908895612. 4



Question Number : 79 Question Id : 1908891420 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following pairs of elements 1s not placed 1 the same group in Mendeleev’s
periodic table?

Se¢, Ga
Mn, Br
3. Nb, Sb
4, Rb,Cd

| I

Options :

1908895613. 1
1908895614. 2
1908895615. 3

1908895616. 4

Question Number : 79 Question Id : 1908891420 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T T s AR s R A s af @
TATE?

S lGa
Mun, Br
Nb. Sb
Rb. Cd

b —

gy

Options :

1908895613. 1
1908895614. 2
1908895615. 3
1908895616. 4

Question Number : 80 Question Id : 1908891421 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Match the model/theory in List I with their related concept given in List IT

List I {List IT

A. Thomson I. Work tunction
'B. Rutherford’s model [II. Radioactive rays
C. Bohr’s model III. Raisin pudding

D. Photoelectric effect [IV. Principal quantum number

Choose the correct answer from the options given below:

1. A-LB-IV.C-ILL.D-III

2. A-IILB-IV.C-1.D-III

3. A-III.B-II.C-IV.D-I

4, A-IIILB-IV.C-II.D-I
Options :

1908895617. 1
1908895618. 2
1908895619. 3
1908895620. 4

Question Number : 80 Question Id : 1908891421 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T & T 0 Aea/ffeid & & -UH & 718 360 Ja99 FIUROT & T7Y
gl FY

-1 g -1

A OTHET 1. F1F FoleT
B. @THIE Agel 11, Yfzantees fror
C. 3R A=A EEC I IED)
D. FH1YT 4 TH IV. Y@ FEH FE&A
A T v Rt # ¥ #E 3o e

. A-EB-IV:C-ILD-HI

2. A-ILB-IV.C-1D-II

1. A=MLB-NC-IN.B-1

4. AT BTV, G-I, D=l

Options :

1908895617. 1
1908895618. 2
1908895619. 3

1908895620. 4

Question Number : 81 Question Id : 1908891422 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statements 1s mncorrect?

1. Molar mass 1s the mass of one mole of a substance 1n grams.

2. One mole 15 the amount of a substance that contains as many particles or entities as there
are atoms in exactly 0.012 kg of the *C isotope.

3. The number of entities (atoms. molecules or any other particles) in 1 mole 15 Avogadro
constant.

- n
4. 1 mole of water molecules contains 6.022 » 10 molecules.

Options :

1908895621. 1



1908895622. 2
1908895623. 3

1908895624. 4

Question Number : 81 Question Id : 1908891422 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
AFed # & $i 7T FI7 ¥0F ¢ °

. TF Aid ¢ F TF F 7779 Al Z97T 21T £

2. 5t oo 71 oF A 3 A ¢ S 39 & S0 suieye @ £ e
Fa-14 TAEAAF F S 0,012 ke & T $ FE; 2 ¢

. UF A # FO (A, HOH T FE 37 Fom) F TEw anmg Tws
gl

4 TH A TR F 6022 ¢ 107 H] @ £

—_

-

L)

Options :

1908895621. 1
1908895622. 2
1908895623. 3

1908895624. 4

Question Number : 82 Question Id : 1908891423 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following statements are correct?

A, BeSOy and MgSOy are mnsoluble in water.

B. Magnesium is the central metal atom in chlorophyll.

C. Pb* acts as an oxidising agent.

D. The study of only emission. not absorption spectra 1s referred as spectroscopy.
E. Diborane 1s prepared by treating BF; with LiAIH,.

Choose the correct answer from the options given below:

1. BandE only

2. B.CandE only

3. Aand D only

4, Band D only
Options :

1908895625. 1
1908895626. 2
1908895627. 3

1908895628. 4

Question Number : 82 Question Id : 1908891423 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



AT FUA A A ST W FIF T £ 0
A. BeSOs A MeSOs 59 # g 21 £

B. FARIMA & $g § HIARTH &7 £

C. Pb** AFERE T TE FE F B

D. F39 3o O F HUTS F FIFER F AT L 7 F e wer
F HeIAT |

E. 34N F1 BF; 31T LiAlH, FT ¥f8fFar & a9 &)
7 T AT e w A ¥ wE 3o/ I

. #Id BHAN E
. %99 B.CHT E
. %3 AHT D
4. I BAT D

|

L)

Options :

1908895625. 1
1908895626. 2
1908895627. 3

1908895628. 4

Question Number : 83 Question Id : 1908891424 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Which of the following options is correct for [Co(NH3)s]> 2

Spin paired complex
Spin free complex

+6 Oxidation state
Paramagnetic complex

| ]

i

Options :



1908895629. 1
1908895630. 2
1908895631. 3

1908895632. 4

Question Number : 83 Question Id : 1908891424 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AT TFeat # ¥ FiF o1 T [CoNHs)s] % v wr & 0

1. H=IshUI HlfHd dbhel

[

A=lshUl Hra H?H

3. +6 HTFARIOT JIET
4. HIISTHT TFA
S P | = |
Options :

1908895629. 1
1908895630. 2
1908895631. 3

1908895632. 4

Question Number : 84 Question Id : 1908891425 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements

Statement I: Kossel in the periodic table explained halogens (highly electronegative elements)
and alkali metals ( highly electropositive elements) are separated by the noble gases.

Statement II: Werner on the basis of physical experiments showed optical and electrical
differences between complex compounds.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 15 correct but Statement I 1s incorrect
Statement I 1s incorrect but Statement II 15 correct

b —

p

Options :

1908895633. 1
1908895634. 2
1908895635. 3
1908895636. 4

Question Number : 84 Question Id : 1908891425 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
A g FuT T

FIA - 1 T F TA9 [ HGT GRON & gAAA (359 Hegd HOTeAS dcd) HN
YT U (359 feegd ueeA® de9) 3epee W gERT He g

FUT - 1 i v gar o A fEmr & wga e & siftera Ak
43gA1T HHAAT ¢
IFT FUAT F HAF H Aol [Sehodt # ¥ §eT 3o e

1. Fu9 13T 134 78 £
2. FUF [T 13 79 F

3. F9F 198 . g FuF 17 ¢
4. FYF 170 §. e FUT THE 2



Options :

1908895633. 1
1908895634. 2
1908895635. 3
1908895636. 4

Question Number : 85 Question Id : 1908891426 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If AV 1s zero in free expansion of a process. then

AU = qp
AU =qy
W<0
W=0

[ R

o

Options :

1908895637. 1
1908895638. 2
1908895639. 3
1908895640. 4

Question Number : 85 Question Id : 1908891426 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

afe FRET Haa SO0 TFA H AV T L ar

AU = qp
AU = gy
W<0
W=0

L b

i

Options :
1908895637. 1

1908895638. 2



1908895639. 3
1908895640. 4

Question Number : 86 Question Id : 1908891427 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Heat capacity for one mole of water 1s

75.3 TK ! mol™
4181 'K
418kT 'K
7.53 J'Blrl mol™

bl

B

Options :

1908895641. 1
1908895642. 2
1908895643. 3

1908895644. 4

Question Number : 86 Question Id : 1908891427 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

U+ AT Jo F FoATGr F1T 79 g

75.3 TK ! mol ™
4187 'K

1

; 4.18kI g 'K

4. 7.53 JK! mol™
Options:
1908895641. 1
1908895642. 2
1908895643. 3

1908895644. 4



Question Number : 87 Question Id : 1908891428 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

What 15 the cell constant of a conductivity cell having resistance and conductivity of 100 & and
1.29 S/m, respectively?

1.29 cm™
120 cm™
129 em’

1290 em’™

b —

bt

Options :

1908895645. 1
1908895646. 2
1908895647. 3
1908895648. 4

Question Number : 87 Question Id : 1908891428 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

U ATFal Uol [SEH I U9 ITelehdl FAT: 100 Q T 129 S'm g, THH T
o e

129 cm’™
120 cm™
129 cm’?

1290 em™

e Lad Bl

Options:

1908895645. 1
1908895646. 2
1908895647. 3
1908895648. 4

Question Number : 88 Question Id : 1908891429 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The rate constants of a chemical reaction at 400K and 600K are 0.015 5™ and 0.06 5™
respectively. The value of E 15

[Given: R=8.314 K /mol. log2 =0.301]

. 6.01 kI mol™
9.15 kJ mol™
13.83 kJ mol™
15.96 kT mol™

S T o

Options :

1908895649. 1
1908895650. 2
1908895651. 3

1908895652. 4

Question Number : 88 Question Id : 1908891429 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

fordy amafes sfafrar & o 3o fRyws 400 K 3T 600 K a9 9T FAT:
0.015s #7006 'R E.FT AT 7

[feam aram § : R=8.314 JK/mol. log2 = 0.301

6.01 kI mol™
9.15 kI mol™
13.83 kI mol™
15.96 kJ mol™

bt

e

Options:

1908895649. 1
1908895650. 2
1908895651. 3
1908895652. 4



Question Number : 89 Question Id : 1908891430 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 15 labelled as Assertion A and the other 1s labelled as
Reason B

Assertion A: At high altitudes. the atmospheric pressure 1s low.

Reason R: Liquids at high altitudes boil at higher temperatures in comparison to that at sea
level.

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A 15 correct but R is not correct

A 15 not correct but R 15 correct

b

S )

Options :

1908895653. 1
1908895654. 2
1908895655. 3

1908895656. 4

Question Number : 89 Question Id : 1908891430 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



AT o FU9 GT AT ;v S AEFAF (A) HT T F FROT(R) FET T &

HHFYF (A): 359 3eaAdel T IGASAT 2 FH & ¢

FNT (R) : FAGAS 1 Jolell H 3o Ieacldl T &9 H{UF 19 T 3ol £

3T FUA F o F fAAiRg Ghedt # ¥ T 3o I

ks

(A) #R (R) A T € 3R (R). (A) F FEr FE E
(A) HT (R) A WET & T (R). (4) F7 FET cEA T €
(

(

| ]

L]

A) @ € W] (R) T T 2
A) e 7§ TWg (R)FE €

o

Options :

1908895653. 1
1908895654. 2
1908895655. 3

1908895656. 4

Question Number : 90 Question Id : 1908891431 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Micelle formation takes place

Above Kraft temperature only

Above critical micelle concentration only
Both above Kraft temperature and eritical micelle concentration

fosd

e

Both below Kraft temperature and critical micelle concentration

Options :

1908895657. 1
1908895658. 2
1908895659. 3
1908895660. 4



Question Number : 90 Question Id : 1908891431 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

frger =1 AT g@ar &

1. 9 FFE d9 § FN

2. %o Fifas TS TEar T 7

3. F¥e A9 AT Fiia+ FYT IEar g1 ¥ FR
4. FIFE JT AT Fifaw o ggar =t ¥ A=

Options:

1908895657. 1
1908895658. 2
1908895659. 3
1908895660. 4

Question Number : 91 Question Id : 1908891432 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

List I List I1

Types of colloids [Example

A, Solid sol I. Dust

B. Aerosol II. Gemstones
C. Emulsion I11. Froth

D. Foam IV. Hair Cream

Choose the correct answer from the options given below:

A-L B-1I. C-IV. D-III
A-I B-IV, C-II. D-TII
A-II. B-1. C-IV. D-III
A-II, B-1, C-IIL. D-IV

Lo b

oo

Options :



1908895661. 1
1908895662. 2
1908895663. 3

1908895664. 4

Question Number : 91 Question Id : 1908891432 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

= IR HE -1 gRfea i

Tl -1 FHY -11
FIAES F TR 3GIEXOT

A3 g I e

B. W 1. 7o TR
C. 9y 111 %

D. BIH IV. JTalr &1 HiH
A% T 717 Beest # § 98 3ew AU

A-L B-II, C-IV. D-III
A-I B-IV. C-II. D-III
A-II. B-I, C-IV. D-III
A-ILL B-I, C-IIL D-IV

b

=

Options :

1908895661. 1
1908895662. 2
1908895663. 3

1908895664. 4

Question Number : 92 Question Id : 1908891433 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



According to the Henry’s law, the partial pressure of the gas in vapor phase (p) is directly
proportional to the

Mole fraction of gas in solute
Mole fraction of gas 1n solution
Mole fraction of solute in solvent
Mole fraction of solvent in solution

N S R

Options :

1908895665. 1
1908895666. 2
1908895667. 3

1908895668. 4

Question Number : 92 Question Id : 1908891433 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Tl fomm ¥ R fRe 3 AT e () F A 7 OARE @
FATAT B 2"

| e g 9w F AT F
). Toa 7 A9 ¥ A H
. ooms § T F A oAy

4. o= & fSomms F 39 o

-

L]

Options :

1908895665. 1
1908895666. 2
1908895667. 3
1908895668. 4

Question Number : 93 Question Id : 1908891434 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



On mixing 90 g of ethylene glycol (C2Hs0,) with 600 g of water, the percentage of depression in
freezing point is (K= 1.86 K kg™ mol™)

25%
1.1%
1.6 %
1.9%

e o e —

Options :

1908895669. 1
1908895670. 2
1908895671. 3

1908895672. 4

Question Number : 93 Question Id : 1908891434 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

00 TTAIE Telgahiel (C,Hs0y) FF 600 ¢ T ol W FA & 9ieT s/ g

(Ke=1.86 K kg™ mol™)

2.5%
1.1%
1.6 %
1.9%

|

s R

Options :

19088956609. 1
1908895670. 2
1908895671. 3
1908895672. 4

Question Number : 94 Question Id : 1908891435 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements

Statement I: Diamagnetism is shown by those substances in which no unpaired electron is
present.

Statement II: Ferromagnetism is observed when the magnetic moments of the domains in the
substance are aligned 1n parallel and anti-parallel directions mn equal numbers.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement IT are mncorrect
Statement I 1s correct but Statement II 1s incorrect
Statement I 1s incorrect but Statement IT 1s correct

e

Options:

1908895673. 1
1908895674. 2
1908895675. 3
1908895676. 4

Question Number : 94 Question Id : 1908891435 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



e T rar

FU - 1. Wiograshes 37 Terdl & @ @ o ¢ s #i5 off sgfeee
SOl el & g

P - 1. 99 T # SRR F T AN F TG FAAR T TTAAH
feonsft & WA 31T € 79 9o # Aggrases ¢& A £

SRFT FUA F FAE A frorad SEed # ¥ T3 9

I FUF [T T3 T £
2. 99 13 13 79 £
3. FUY 19 ¢ feq FU D7 2
4. FYT 1794 ¢, 6] F9T DT E

Options :

1908895673. 1
1908895674. 2
1908895675. 3

1908895676. 4

Question Number : 95 Question Id : 1908891436 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following 1s correct for Adsorption isotherm?

xfm

1. i/p —

I

x/m

£
x/m
3 i —2
x/m
e
4, p—>
Options :

1908895677. 1
1908895678. 2
1908895679. 3
1908895680. 4



Question Number : 95 Question Id : 1908891436 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A=e@a 7 @ Fi9 ar 3w gaadT F T @8 g 2

®fm .
/ e
V
1. 1/p >
x/m )
‘.r
3 P ’
xfm —
.||Ir.II 4 1
vV
__1, 1/P >
wim :
.IIIII. RS S B |
4 -
Options :

1908895677. 1
1908895678. 2



1908895679. 3

1908895680. 4

Question Number : 96 Question Id : 1908891437 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The statement, “if two elements can combine to form more than one compound, the masses of
one element that combine with a fixed mass of the other element are in the ratio of small whole
numbers”, 1s given by:

1. Gay Lussac
2. Dalton

. Antoine Lavoisier
Joseph Proust

:[_~..l'_,..t_|

Options :

1908895681. 1
1908895682. 2
1908895683. 3

1908895684. 4

Question Number : 96 Question Id : 1908891437 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
FUF. "I & 97 B % ¥ 3UF 3 79 T £ A % 7 F geaEE
St gy A % fafted gewmm & W ol O e § e & waiae g
g, Zan fear o ¢

1 AT

. Eoed

3. AT TERET
4, FUE IEE

Options :

1908895681. 1



1908895682. 2
1908895683. 3

1908895684. 4

Question Number : 97 Question Id : 1908891438 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements
Statement I: Equilibrium can be established for chemical reaction only.

Statement II: The reaction may be fast or slow depending on the experimental conditions and
the nature of the reactants.

In light of the above statements, choose the correct answer from the options given below

Both Statement I and Statement II are true
Both Statement I and Statement IT are false
Statement I 15 true but Statement II 1s false
Statement I 1s false but Statement I 1s true

[

s

Options :

1908895685. 1
1908895686. 2
1908895687. 3
1908895688. 4

Question Number : 97 Question Id : 1908891438 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



AT FFRTATE

FUF - 1 TFOEE S TS 38R F v eafa 2 g+ 8

FUd - 11 ¥R 71 99 3vEr A7 @ 3EH TEiT v yRifes aiirefeat
CENEIGIE]

ITIFT FUA F HAF A Aoy awed & ¥ WE 3ol I

1. FUF 13T 04T T £
2. FUF 13T 03 T F
3. FUT 1TE 2. fheg Fua 17T £
4 FYF 1999 ¢, e F977 1T £

Options :

1908895685. 1
1908895686. 2
1908895687. 3

1908895688. 4

Question Number : 98 Question Id : 1908891439 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

The solubility of AXy in pure water on assuming that neither kind of 10n reacts with water, 15
(Given: solubility product of AXy, Ko =2.56 10-13)

1x 1{}'? mol/L
1x 10” mol/L
2x l{li'“_i mol/L
2x 107 mollL

e o b2 =

Options :

1908895689. 1
1908895690. 2
1908895691. 3

1908895692. 4



Question Number : 98 Question Id : 1908891439 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TE AEHT F AN T § 5 o 9w f wfdfEar a8 @ £ A axe $r e
gt

(feram amam & : AXFT FeraT O Ky = 2,56 1 107)

1x 1{}"‘_1 mol/L
1x10”molL
2x l{]'f mol/L
2% 107 mol/L

[

e

Options :

1908895689. 1
1908895690. 2
1908895691. 3

1908895692. 4

Question Number : 99 Question Id : 1908891440 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



For the given examples of non-polar molecular solids
A. Ar

B. HCI

C.50;

D. C (Diamond)

E. H»

Choose the correct answer from the options given below:

1. A.B.CandE only

2. Band C only

3. B.CandE only

4. A and E only
Options:

1908895693. 1
1908895694. 2
1908895695. 3

1908895696. 4

Question Number : 99 Question Id : 1908891440 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Iyfay e 3rEr F AU o1e IgTeRon &
A. Ar

B. HCI

C. SO,

D. C (Diamond)

E. H>

A fow av fasedt # & WEr 3o T+

1. *aef A B.CHR E
2. I B3R C

3. Fga0 B.CAHR E
4. Fad AHT E

Options :

1908895693. 1
1908895694. 2
1908895695. 3
1908895696. 4

Question Number : 100 Question Id : 1908891441 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A compound 50% thermally decomposed by the first order reaction 1n 75 seconds, then, how
long 1t will take for 90% decomposition?

4.11 minutes
41.1 mimutes
134.56 minutes
246.75 minutes

e L D

Options :
1908895697. 1

1908895698. 2



1908895699. 3
1908895700. 4

Question Number : 100 Question Id : 1908891441 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T W 9UF Fifc JARTRT G 75 §hE & 50% g e 2 £ 38 90%
frfaa @ & e @wg aenm 0

1. 411
2. 411 =e
3. 13456 e
4. 24675 fete

Options :

1908895697. 1
1908895698. 2
1908895699. 3

1908895700. 4

Part C Biology

Section Id : 19088941
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 50
Number of Questions to be attempted : 50

Section Marks : 200

Enable Mark as Answered Mark for Review and
Yes
Clear Response:



Sub-Section Number : 1
Sub-Section Id : 19088967

Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 1908891442 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Water molecules are unable to penetrate the inner boundary of the root cortex due to

Non suberization of endodermis wall region

Movement of the water through symplast

Movement of the water always takes place through apoplast
Presence of casparian strips in the endodermis

|

b

Options:

1908895701. 1
1908895702. 2
1908895703. 3

1908895704. 4

Question Number : 101 Question Id : 1908891442 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

WS Pledd DI Jdkd Gag § T AU & YaW A1 UM BT BRU (4 & Gl
g

aft: 98 fiRlt & | aRea @1 o
9d @1 Ydig I<d FGuRe & §RI 8l &
vd G3d WG & gRI T el ¢
3f: IH HYUNTA TEl P Gl

S

Options :
1908895701. 1
1908895702. 2

1908895703. 3



1908895704. 4

Question Number : 102 Question Id : 1908891443 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

ListI List IT
A. Citric acid 1. Saccharemyces
B. Ethanol II. Clastridium

C. Ripening of swiss cheese |[II. Aspergillus

D. Butyric acid IV. Propionibacterium

Choose the correct answer from the options given below:

1. A-IILB-LC-IILD-1IV

2. A-TIILB-IV.C-ILL.D-1I

3. A-IMI.B-LC-IV.D-II

4 A-II.B-LC-II.D-IV
Options :

1908895705. 1
1908895706. 2
1908895707. 3
1908895708. 4

Question Number : 102 Question Id : 1908891443 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T I 1 @ AR S -

Tl 1 T I
A ToieD 3T L. Heh TSI

el L. FATSTH
C. WY 914 &1 dOR EHI 1L, TERTSe
D. SICTRIP 3t v, it difian
H9 Ry T fawed # ¥ v Iw 9T -
. A-ILB-1C-IMLD-1IV
2. A-ILB-IV,C-IL,D-I
3. A-TLB-LC-IV.D-II
4. A-ILB-LC-ILD-IV
Options :

1908895705. 1
1908895706. 2
1908895707. 3

1908895708. 4

Question Number : 103 Question Id : 1908891444 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In contrast to Pterophylium and Calotes. Gorjonia and Echinus have
A. Dorsal heart

B. Single and dorsal nerve cord

C. Double and ventral nerve cord

D. Post anal tail

E. Notochord

Choose the correct answer from the option given below:

1. C.D & E only
2. A&Bonly

3. B.D&Eonly
4. A&Conly

Options :
1908895709. 1

1908895710. 2



1908895711. 3
1908895712. 4

Question Number : 103 Question Id : 1908891444 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

BT TUT HARY DI ga-l H RS- T4 ShHET § 8l © :

A. 3Ty §2g
B. Uhd 3T1& dEPT $le
C. 3141, e AP BIe

D.TE1 UY IS
E. AlcIPls

A fau U faeel # ¥ wel S I
Pad C,D 3R E
Had A 3R B
%ad B.D 3R E
Haq A 3R C

b =

oW

Options :

19088957009. 1
1908895710. 2
1908895711.3

1908895712. 4

Question Number : 104 Question Id : 1908891445 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following 1s a wrongly matched pair?

Locus - place on a chromosome where spindle fibers attach
Microsporogenesis - process of gametogenesis in the male flower
Zygotene - pairing of homologous chromosomes occurs during this stage
Megagametophyte - mature embryo sac

e A

Options :

1908895713. 1
1908895714. 2
1908895715. 3
1908895716. 4

Question Number : 104 Question Id : 1908891445 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g &1 fira Tad v T ©

[—

. WY - U TR 98 [ Wel dP dq Jsdl ¢

2. HEHRNHEY - R 09 ¥ QG bl
3. Sgifes - WHed URET &1 Joid 59 @l § gl §
Options :

1908895713. 1
1908895714. 2
1908895715. 3
1908895716. 4

Question Number : 105 Question Id : 1908891446 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following is related to golden rice?

Bio-fortification

Pest resistance
Inbreeding

Somatic hybridization

e T bd e

Options :

1908895717. 1
1908895718. 2
1908895719. 3

1908895720. 4

Question Number : 105 Question Id : 1908891446 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Tes ey 9 9 Hdfed € -

EEIERIERE R
Pic UlaRieEd
3d: &4
HIAD HHI[

e o b =

Options :

1908895717. 1
1908895718. 2
1908895719. 3

1908895720. 4

Question Number : 106 Question Id : 1908891447 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements
Statement I: Junk DNA contains regulatory sequences as well as repetitive sequences.

Statement II: Non coding DNA play a role in generating genomic diversity necessary to fuel
genome evolution

In light of the above statements. choose the most appropriate answer from the options given
below

. Both Statement I and Statement II are correct

. Both Statement I and Statement II are mcorrect

3. Statement I 1s correct but Statement IT 15 incorrect
4. Statement I 1s incorrect but Statement II 15 correct

b =

Options :

1908895721. 1
1908895722. 2
1908895723. 3

1908895724. 4

Question Number : 106 Question Id : 1908891447 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
& $UF fGT T R
T - 1. 9% DNAH FOA@R 0 a1 TR o9 o 81 g
FU - I1: 99 FifeT DNA M fafdear @ g o o fdom & 2eF &1 o
Fdl ¢
S Sl b e § Hufafad fdeedl § 9 gl 9w 9 -
1. B 13R 1M el &l
2. T 13R A NG|

. U 199 B, [ P 11 3T B
. B 13 g, fb<] HUF 19T 6

. ]

Options :

1908895721. 1



1908895722. 2
1908895723. 3

1908895724. 4

Question Number : 107 Question Id : 1908891448 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements

Statement I: Standing state 1s the amount of morganic nutrients found mn an ecosystem and it
varies on a seasonal basis.

Statement II: Standing crop 15 the mass of living matter i an ecosystem and 1t tends to be more
readily apparent in terrestrial environment as compared to aquatic environment

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement IT 1 incorrect
Statement I 1s incorrect but Statement II 1s correct

b =

= b

Options :

1908895725. 1
1908895726. 2
1908895727.3
1908895728. 4

Question Number : 107 Question Id : 1908891448 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



(English Hindi q is different)
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Options :

1908895725. 1
1908895726. 2
1908895727.3

1908895728. 4

Question Number : 108 Question Id : 1908891449 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

During the transmission of nerve impulse to nerve fiber. the membrane potential on the mner
side of the plasma membrane 1s

First positive, then negative and continue to be negative
First negative. then positive and continue to be positive
First positive, then negative and again back to positive

First negative. then positive and again back to negative

|

N )

Options:
1908895729. 1
1908895730. 2

1908895731. 3



1908895732. 4

Question Number : 108 Question Id : 1908891449 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T dq & Mg 9 dEe] <9 yae § @ BhsE i SidNe Jdg W U
icRed ® (3 wbR P fdgqd 9 Bl 6 ?

. WYY GHRIESD, {Y TORED Y TUYM 3Had TORIED
. WYY THRIAD. {UR ORIEAD T THRIAD

: HWW.WWWW%&W

: HWW.WWW—HE:W

b =
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Options :

1908895729. 1
1908895730. 2
1908895731. 3
1908895732. 4

Question Number : 109 Question Id : 1908891450 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Identify the odd combination of the habitat and the particular animal concerned

1. Gir forest- Lion

2. Dachigan national park- Snow leopard
3. Jim Corbett national park- Tiger

4. Rann of Kutch- Wild Ass

Options :

1908895733. 1
1908895734. 2
1908895735. 3
1908895736. 4



Question Number : 109 Question Id : 1908891450 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

AN & YR W §HA Slls Bl 999 B ;

1. R B - W
. ©| Plde IF IAM - TR
4. D=5 DI 0T - STl T

-2
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Options :

1908895733. 1
1908895734. 2
1908895735. 3

1908895736. 4

Question Number : 110 Question Id : 1908891451 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

If two genes are placed 65¢m apart on a chromosome. then what will be the recombination
frequency of these genes?

100%
65%

50%

35%

|

e T

Options :

1908895737. 1
1908895738. 2
1908895739. 3

1908895740. 4

Question Number : 110 Question Id : 1908891451 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

qﬁﬁﬁﬁquwmﬂbicmﬁméﬁwmﬁmﬂ
gl ¢

100%
05%
50%
35%

e e b =

Options :

1908895737. 1
1908895738. 2
1908895739. 3

1908895740. 4

Question Number : 111 Question Id : 1908891452 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following is not the criterion for essentiality?

1. Element must be directly involved in the metabolism of plant

2. Element is absolutely necessary for growth and reproduction

3. Requirement of one element can be replaced with another element

4. In the absence of element, plants cannot complete their life cycle
Options :

1908895741. 1
1908895742. 2
1908895743. 3
1908895744. 4

Question Number : 111 Question Id : 1908891452 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908895741. 1
1908895742. 2
1908895743. 3

1908895744. 4

Question Number : 112 Question Id : 1908891453 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following is suitable example of plants where ovules are not enclosed by any
ovary wall?

. Eucalyptus and Cedrus
Sequoia and Conifers
Conifers and Sunflower
Wolfia and cedrus

e e b —

Options :

1908895745. 1
1908895746. 2
1908895747. 3
1908895748. 4

Question Number : 112 Question Id : 1908891453 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



g 1 9 sigmm fuRy Wed dWvs 9 IS &1 99d P

i

Options :

1908895745. 1
1908895746. 2
1908895747.3
1908895748. 4

Question Number : 113 Question Id : 1908891454 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
Given below are two statements

Statement I: [solated individuals may establish a new population which has different gene pool
from the source population - Founder effect.

Statement IT; A severe drop in population size occurs due to a sudden change in the
environment- Bottleneck effect

In light of the above statements, choose the most appropriate answer from the options given
below

. Both Statement I and Statement II are correct

. Both Statement I and Statement II are incorrect
Statement I 15 correct but Statement IT 1s incorrect
. Statement I 1s mcorrect but Statement IT 1s correct

b =

= o

Options :

1908895749. 1
1908895750. 2
1908895751. 3

1908895752. 4



Question Number : 113 Question Id : 1908891454 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

49 3 FyF Rt M g
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S @ S § i g gl
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b =

e o

Options :

1908895749. 1
1908895750. 2
1908895751. 3

1908895752. 4

Question Number : 114 Question Id : 1908891455 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Amino-acyl synthetase enzyme is responsible for

1. attaching an amino group to an organic acid

2. the formation of a peptide bond

3. movement of tRNA molecules from A to P sites on a ribosome
4. joining an amino acid to a tRNA

Options:
1908895753. 1
1908895754. 2



1908895755. 3
1908895756. 4

Question Number : 114 Question Id : 1908891455 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
ST - TorEE ey 9 & g Iaven © -

Ul THE & PEHD o U SSd H
UpIss dis &4 |

tRNA 0] BT A Y USENEH & P RIM R RIFIR
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Options :

1908895753. 1
1908895754. 2
1908895755. 3
1908895756. 4

Question Number : 115 Question Id : 1908891456 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following statement 15 incorrect to authenticate the endosymbiotic theory?
A. Mitochondria are self-replicating bodies like bacteria

B. Presence of membrane protein on bacterial cell wall

C. Mitochondria have their own DNA

D. Mitochondria and bacteria differ in size

E. Mitochondnial ribosomes resemble bacterial ribosomes

Choose the correct answer from the option given below:

B & C only
C & D only
A & B only
B & D only

| R

o

Options :

1908895757. 1



1908895758. 2
1908895759. 3

1908895760. 4

Question Number : 115 Question Id : 1908891456 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
UsitEmiies fGuid ufiueT # 5 981 @l ©
A AISCIPIgal Sfiary] o1 uifd wW@a: UidPpad e Tl
B. Wiq1y] I i W iy WidH gid &)
C. ATscimifedl 1 3= DNA Bidl |
D. Hiscidifsdr auT Sfiam sMeR H fiFar w@d 3|
E. HISSPiigdr auT Sfiam Isaa™ § 99 gkl ¢
= fau T faPedi § ¥ ¥et Iw 94
HaAB IR C
$dd C3R D

3. fh—cmﬁaiﬁﬂ
4. @dd B3R D

b =

Options:

1908895757. 1
1908895758. 2
1908895759. 3
1908895760. 4

Question Number : 116 Question Id : 1908891457 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Grven below are two statements. one 15 labelled as Assertion A and the other 1s labelled as
Reason R

Assertion A: Person suffermg from hemophilia fails to produce blood clotting factor -
VIIL
Reason R: Prothrombin producing platelets in such persons are very low in number

In light of the above statements, choose the most appropriate answer from the options given
below

Both A and R are correct and R 1s the correct explanation of A
Both A and R are correct but R 1s NOT the correct explanation of A
A is correct but R 1s not correct

e =

s e

A 15 not correct but R 1s correct

Options :

1908895761. 1
1908895762. 2
1908895763. 3

1908895764. 4

Question Number : 116 Question Id : 1908891457 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :



1908895761. 1
1908895762. 2
1908895763. 3

1908895764. 4

Question Number : 117 Question Id : 1908891458 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which one of the following condition may occur in the absence of leucoplasts?

Storage of carbohydrates, oil and fat cannot take place

Light energy. essential for photosynthesis cannot be trapped

Plant parts cannot produce yellow and orange colour

Enzymes required for protein and carbohydrate synthesis may not be present

b =

il

Options:

1908895765. 1
1908895766. 2
1908895767. 3

1908895768. 4

Question Number : 117 Question Id : 1908891458 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
1908895765. 1

1908895766. 2



1908895767. 3
1908895768. 4

Question Number : 118 Question Id : 1908891459 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

In PCR, during primer extension the Tag DNA polymerase synthesizes the DNA region between
the primers by using

Deoxynucleoside and Mg™™
Oxynucleoside and Ca®*
Deoxynucleoside triphosphates and Mg
Nucleotide and Ca*

e e e —

Options :

1908895769. 1
1908895770. 2
1908895771.3

1908895772. 4

Question Number : 118 Question Id : 1908891459 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

PCRH WISMR G T Taq UG & GRI WISTRI & 0 BT DNA HH 1 gRI
&iftd foar & gl

1. fgaieigidmrags aur Mg™

2. g quUT ca

3. TEsiaiiglaaraEgs CEhEhe adl Mg™
4. GRIGICTES TUT Ca™

Options :

1908895769. 1
1908895770. 2
1908895771. 3
1908895772. 4



Question Number : 119 Question Id : 1908891460 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

As we go from species to kingdom in a taxonomic hierarchy the number of common
characteristics

will increase
remain same
will decrease
may increase or decrease

|

e

Options :

1908895773. 1
1908895774. 2
1908895775. 3

1908895776. 4

Question Number : 119 Question Id : 1908891460 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
wq g Wild § 9 @ RS Yaa ¥ 9eNd 6,99 H0d G O 3 gE
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Options :

1908895773. 1
1908895774. 2
1908895775. 3

1908895776. 4

Question Number : 120 Question Id : 1908891461 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

ListI List IT

A. Sleep-wake cycle [I. Pineal gland

B. Electrolyte balance II. Pancreas

C. Uterine contraction [III. Pituitary glancf

D. Hyperglycemia IV. Adrenal glancl.

Choose the correct answer from the options given below:

A-ILB-II.C-IV.D-III
A-LB-IV.C-III.D-II
A-II.B-LC-II.D-IV
A-TMMB-LC-II.D-1IV

b =

W b

Options :

1908895777. 1
1908895778. 2
1908895779. 3
1908895780. 4

Question Number : 120 Question Id : 1908891461 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T 1P 1 @ gafid B -

= -1 gl -

A G - SFH @1 9% 1. foi-rae udi
B. gigeIdge T I1. 9par

C. TYIRE HPpad 1. fegedt Uedt
D. SIS Iv. Ufsa 4t

A9 13U U faeai ¥ ¥ Hel IW MU :
. A-LB-ILC-IV,D-II
2. A-LB-IV,C-IIL,D-TI

A-ILB-LC-IIL.D-IV
A-TILB-LC-IL.D-IV

-

Options :

1908895777. 1
1908895778. 2
1908895779. 3

1908895780. 4

Question Number : 121 Question Id : 1908891462 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Lac operon required for metabolism of lactose is switched on when
A. Lactose 1s present

B. Lactose 1s absent

C. Repressor binds to operator region

D. Repressor interacts with inducer

E. Glucose 1s present

Choose the correct answer from the option given below:

1. A.BandD only
2. B&C only

3. B.D & E only
4. A.C & E only

Options :

1908895781. 1



1908895782. 2
1908895783. 3

1908895784. 4

Question Number : 121 Question Id : 1908891462 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

doe & 3U9=g H e od UEad 9 O URW BT ©

A. 99T I T
B. daeg 4G ©

C. SHAHY 3N &9 9 Ia9 eIl ¢

D. SHA®H: IRP 4 fobar &ear @
E. 7@ 39as ©
= f4u U fadedl # 9 Ul IR 9
1. &qd A, B 3R D
2. @dd B3R C
3. ®dd B.D3IR E
4. AT A.C3R E
Options:
1908895781. 1
1908895782. 2
1908895783, 3

1908895784. 4

Question Number : 122 Question Id : 1908891463 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following antibody isotope is present on the surface of B lymphocytes and
mfluence B cells to secrete other antibodies?

IeG
IgD
IgA
IgE

[ S

e

Options:

1908895785. 1
1908895786. 2
1908895787.3

1908895788. 4

Question Number : 122 Question Id : 1908891463 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g ufRell T9aR B forpEe $ Tde W 39T Bid1 © 9l B - DIRSGT 3
OfcRel Wau B IARd T §

IgG
IgD

IgA
IgE

o b B =

Options :

1908895785. 1
1908895786. 2
1908895787. 3
1908895788. 4

Question Number : 123 Question Id : 1908891464 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

List I List IT
A. Chlorophyll I. Aerobic respiration
B. Golgi apparatus I1. Formation of glycoprotein

C. Rough endoplasmie reticulum [III. Trapping light energy for photosynthesis

D. Mitochondria IV.Protein synthesis

Choose the correct answer from the options given below:

A-LB-II.C-NIII.D-1IV
A-IV.B-IIILC-ILLD -1
A-III.B-IILC-IV.D-1I
A-IMLB-ILC-LD-IV

b =

B

Options :

1908895789. 1
1908895790. 2
1908895791. 3

1908895792. 4

Question Number : 123 Question Id : 1908891464 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



T -1 el -

A. TR 1. IGdig 49

B, el STB0T I TP BT &1

C. P USTd I, TRl TIAWU] & HbT Sl
e 13U U faded § 9§ W8l 9w 9T

1. A-LB-II.LC-IIL.D-1IV
2. A-IV.B-IILLC-II,D -1
30 A-IMLB-II.C-IV,D-1
4 A-NIILB-ILC-LD-IV

Options :

1908895789. 1
1908895790. 2
1908895791. 3

1908895792. 4

Question Number : 124 Question Id : 1908891465 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
The urge to inhale 1n human results from
1. nsing pCO7
2. nsing pOs

falling pCO;
talling pO»

e

Options:

1908895793. 1
1908895794. 2
1908895795. 3
1908895796. 4



Question Number : 124 Question Id : 1908891465 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g § 3 4o o s=1 A 9 gidt ©

1. pCO; DI de-l

2. pOa Pl dedl

3. pCOy T YcHI

4. pO, PI TRAT
Options:

1908895793. 1
1908895794. 2
1908895795. 3

1908895796. 4

Question Number : 125 Question Id : 1908891466 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: Immature lymphocytes differentiate into antigen sensitive lymphocytes in primary
lymphoid organs and then migrate to secondary lymphoid organs.

Statement IT: In Peyer’s patches of the small mtestine, lymphocytes nteract with antigens and
proliferate to become effector cells,

In light of the above statements, choose the most appropriate answer from the options given
below

. Both Statement I and Statement II are correct

. Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement II 1s incorrect
. Statement I 1s incorrect but Statement II 1s correct

o =

o o

Options :

1908895797. 1



1908895798. 2
1908895799. 3

1908895800. 4

Question Number : 125 Question Id : 1908891466 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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b =

e o

Options :

1908895797. 1
1908895798. 2
1908895799. 3

1908895800. 4

Question Number : 126 Question Id : 1908891467 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

ListI List IT

A. Major constituent of proteins. vitamins and hormones I. Molybdenum
B. Opening and closing of stomata I1. Potassium
C. Synthesis of DNA and RNA II. Nitrogen

D. Activation of phosphoenol pyruvate carboxylase IV. Magnesium

Choose the correct answer from the options given below:

A-IILB-IV.C-III,D-1I
A-TILB-IV.C-ILD-I
A-IV.B-LC-IIILD-II
A-IML.B-II,C-IV,D-1I

B N B

Options :

1908895801. 1
1908895802. 2
1908895803. 3
1908895804. 4

Question Number : 126 Question Id : 1908891467 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

T IH G 1 @ gARE FIT -

el -1 el I
A UIEH, [dei= qur sMEl &1 §= 3foud I Tifcfgsaa
B. ®Hel BT a1 adl §8 ol I1. greRaH
C. DNA dY4T RNA &1 G900l 111 AE¢io
D. BRBIEAE UlgFde DIaiaEicry B1 Juod TV. BifRRm
- XU U fdeddi ¥ § 98l W g

1. A-ILB-IV,C-TLD-I

2 AT BV, C-IL DI

3. A-IV,B-LC-ILD-II

4 A-TLB-T,C-IV,D-I



Options :

1908895801. 1
1908895802. 2
1908895803. 3

1908895804. 4

Question Number : 127 Question Id : 1908891468 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

List I List I

A Residual volume I. Air volume remains in lungs after a normal expiration

I1. Maximum air volume a person can breathe in after a forced

B. Vital capacity exriisbon

C. Tidal volume M1 Air volume remains in lungs after a foreible expiration

D. Functional residual

: IV. Air volume mspired during a normal respiration
capacity i

Choose the correct answer from the options given below:
. A-ILB-ILC-IV.D-1I
2. A-ILB-IL.C-IV.D-1
3. A-ILB-NILC-LD-IV
4. A-NLB-LC-IV.D-TI

Options :

1908895805. 1
1908895806. 2
1908895807. 3
1908895808. 4

Question Number : 127 Question Id : 1908891468 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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1. A-TILB-II.C-IV.D-1I
2. A-IILB-III.C-IV.D -1
3. A-ILB-III.C-LD-1IV
4 A-NLLB-LC-IV.D-II

Options :

1908895805. 1
1908895806. 2
1908895807. 3

1908895808. 4

Question Number : 128 Question Id : 1908891469 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Given below are two statements
Statement I: Biding site for RNA polymerase is the promoter.
Statement IT: RNA polymerase binds to promoter and initiates the translation process.

In light of the above statements, choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are incorrect
Statement I 1s correct but Statement I 1s mcorrect
Statement I 1s incorrect but Statement II 1s correct

k] o



Options :

19088958009. 1
1908895810. 2
1908895811. 3
1908895812. 4

Question Number : 128 Question Id : 1908891469 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

TR P RT R :

HYT - 1: RNA UfdAe 37 989 RIF SA0F W oidl g

FYH - I1: RNA Tclee Sa0@ R §8H & IWRId 3dIe a1 UR™Y &l gl
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de o S —

Options :

19088958009. 1
1908895810. 2
1908895811. 3
1908895812. 4

Question Number : 129 Question Id : 1908891470 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Exact causes of biodiversity losses are

A. Alien species invasion
B. Overexploitation

C. Succession

D. Endemism

E. Fragmentation

Choose the correct answer from the options given below:

1. B.C & Donly
2. C&Eonly
3. A&Donly
4. A.B&E only

Options :

1908895813. 1
1908895814. 2
1908895815. 3

1908895816. 4

Question Number : 129 Question Id : 1908891470 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Safafaerdr g8 1 Wl FRU FE §
A, faceit wfa st
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2. @dd C 3R E

3. PAAA 3R D

4, Hdd A.B3IR E
Options :

1908895813. 1
1908895814. 2
1908895815. 3

1908895816. 4

Question Number : 130 Question Id : 1908891471 Question Type : MCQ Option Shuffling
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

A Prothallus 15

a structure of pteridophyte formed before the development of thallus
a sporophytic, free living structure formed mn pteridophytes

a gametophytic, free living structure formed 1in pteridophytes

a primitive structure formed after fertilization in pteridophytes

b =

ool

Options :
1908895817. 1
1908895818. 2

1908895819. 3

:No



1908895820. 4

Question Number : 130 Question Id : 1908891471 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908895817. 1
1908895818. 2
1908895819. 3
1908895820. 4

Question Number : 131 Question Id : 1908891472 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Botanical gardens and zoological parks have

collection of endemic species only
collection of only local plants and animals
collection of exotic species

collection of endemic and exotic species

b =

e L

Options :

1908895821. 1
1908895822. 2
1908895823. 3

1908895824. 4



Question Number : 131 Question Id : 1908891472 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

g 3 YT "ol 399 & HH B I9099 &

. WIFE TiElie &1 9Hd A

. WHIT 91gy duT 9] &1 YHID A

3. @ledl iR A &1 9adad

4. RFA dur ded fofdga Tieis &1 gqead

b =

Options :

1908895821. 1
1908895822. 2
1908895823. 3

1908895824. 4

Question Number : 132 Question Id : 1908891473 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following concept postulated that a sexually reproducing organisms do not form
species?

. Morphological species coneept
. Biological species concept
Phylogenetic species concept
Ecological species concept

e s e —

Options :

1908895825. 1
1908895826. 2
1908895827. 3

1908895828. 4

Question Number : 132 Question Id : 1908891473 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1
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Options :
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1908895825. 1
1908895826. 2
1908895827. 3
1908895828. 4

Question Number : 133 Question Id : 1908891474 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Grven below are two statements

Statement I: The action of mnsulin and glucagon hormones 1s an example of negative feedback
mechanism.

Statement II: Rapid accumulation of platelets at the site of mnjury and continuation of this
aggregation till clot formation 1s an example of positive feedback mechanism.

In light of the above statements, choose the most appropriate answer from the options given
below

1. Both Statement I and Statement II are correct

[ ]

Both Statement [ and Statement II are incorrect
Statement I 15 correct but Statement 11 is incorrect

e

Statement I 1s incorrect but Statement II 1s correct

Options :

1908895829. 1
1908895830. 2
1908895831. 3
1908895832. 4

Question Number : 133 Question Id : 1908891474 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
& P ey T R
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Options :

1908895829. 1
1908895830. 2
1908895831. 3

1908895832. 4

Question Number : 134 Question Id : 1908891475 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following molecules are most rich 1n energy 1n a healthy person with normal
metabolic rate?

ATP
GTP
FADH
NADH

[

R

Options :

1908895833. 1
1908895834. 2
1908895835. 3

1908895836. 4



Question Number : 134 Question Id : 1908891475 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

U YHH @R A § SUTy R 9 g e H U 9ed Suiga S 1 90
PN

ATP
. GTP
. FADH
. NADH

|

e

Options :

1908895833. 1
1908895834. 2
1908895835. 3

1908895836. 4

Question Number : 135 Question Id : 1908891476 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Match List I with List IT

List I List II

A, Rheumatoid arthritis [I. Thickening of the arteries

B. Atherosclerosis 11 Inflammation of synovial membrane

C. Gout ITT. Pain in the chest

D. Angina pectoris IV. Accumulation of uric acid erystals in synovial joints

Choose the correct answer from the options given below:

1. A-IIMLLB-IV.C-ILD-1
2. A-IV.B-1LC-IILLD-II
3 A-IILB-ILC-LD-IV
4 A-II.B-1L.C-IV.D-II
Options :
1908895837. 1

1908895838. 2



1908895839. 3
1908895840. 4

Question Number : 135 Question Id : 1908891476 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

O IS -1 T GARE FI

g -1 LEl
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1. A-IIILB-IV.C-ILD-1I
2. A-IV.B-LC-III.D-1I
3. A-IIILB-II,C-LD-1IV
4, A-II.B-L.C-IV.D-III
Options :

1908895837. 1
1908895838. 2
1908895839. 3

1908895840. 4

Question Number : 136 Question Id : 1908891477 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Which of the following matching pair is WRONG?

Mollusca — Calcareous ossicles
Cnidaria — Polyp and Medusa
Echinodermata — Water vascular system
Porifera — Water canal system

ot

o



Options :

1908895841. 1
1908895842. 2
1908895843. 3
1908895844. 4

Question Number : 136 Question Id : 1908891477 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

—
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Options :
1908895841. 1
1908895842. 2
1908895843. 3

1908895844. 4

Question Number : 137 Question Id : 1908891478 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

A person 15 born with a mutation that results 1n cell’s mablity to produce NADH dehydrogenase
complex, which 1s responsible for the produection of ATP from NADH in electron transport chain
(ETC). Do you think that this person can still produce energy from ETC?

1. No. because there is no other molecule that ETC uses to produce energy

2. No, because ETC can use other molecules for ATP production. only in the presence of
NADH

3. Yes, because NAD" can still enter into ETC for ATP production

4. Yes, because FADH, can still enter into ETC for ATP production

Options :



1908895845. 1
1908895846. 2
1908895847. 3

1908895848. 4

Question Number : 137 Question Id : 1908891478 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908895845. 1
1908895846. 2
1908895847. 3

1908895848. 4

Question Number : 138 Question Id : 1908891479 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT
ListT  [ListII

I. Smallest known agent of infectious disease comprising of ssRNA but lacking

A Virulent| " ™)
capsids

B. Virus  [II. A Latin word for plural of Virus
C.Viroid [III. Strong enough to overcome host resistance and cause disease

D.Vira  [IV. Minute parasitic microbe that lives inside another eell

Choose the correet answer from the options given below:
. A-LB-IL.C-TIL,D-IV
2 A-MB-IV.C-1LD-II

. A-TLB-LC-ILD-IV

. A-IV,.B-ILC-IILD-1I

= o

Options :

1908895849. 1
1908895850. 2
1908895851. 3

1908895852. 4

Question Number : 138 Question Id : 1908891479 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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A-LB-IILC-NILD-1IV
A-TMLLB-IV.C-LD-II
A-II.B-LC-III.D-IV
A-TV.B-II.C-III.D-1I

b =

i o

Options :

1908895849. 1
1908895850. 2
1908895851. 3

1908895852. 4

Question Number : 139 Question Id : 1908891480 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Identify the palindromic sequence in the following

GAATTC
GAATTC

GAATTC
CTTUUG

[ -]

GAATTC
CUUAAG

L]

GAATTC
CTTAAG
Options :
1908895853. 1
1908895854. 2
1908895855. 3

1908895856. 4

Question Number : 139 Question Id : 1908891480 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

9 7 9 fadsr e o1 999 &Y -

GAATTC
GAATTC
GAATTC
CTTUUG
GAATTC

CUUAAG
GAATTC

CTTAAG

[ ]

Options :

1908895853. 1
1908895854. 2
1908895855. 3

1908895856. 4



Question Number : 140 Question Id : 1908891481 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

Which of the following cellular component is present in eukaryotic flagella?

Microfilament
Collagen
Flagellin
Microtubules

b =

o

Options:

1908895857. 1
1908895858. 2
1908895859. 3
1908895860. 4

Question Number : 140 Question Id : 1908891481 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
gobivafiel & wifen o Y SR ged IURid §id ©
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Options:

1908895857. 1

1908895858. 2

1908895859. 3
1908895860. 4

Question Number : 141 Question Id : 1908891482 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 4 Wrong Marks : 1

What 15 the maximum percentage of recombination frequency between two genes on a
chromosome?

75%
100%
50%

25%

g =

ke

Options :

1908895861. 1
1908895862. 2
1908895863. 3
1908895864. 4

Question Number : 141 Question Id : 1908891482 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1

I URE W G g1 i[9 P gAdieE sgha g s -

L. T53%
2. 100%
3. 50%
4. 25%
Options :

1908895861. 1
1908895862. 2
1908895863. 3
1908895864. 4

Question Number : 142 Question Id : 1908891483 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which one of the following matching pair 1s wrong?

Organism that lack a cell wall and can survive without 0> - Mycoplasma
Fusion of protoplasm between 2 motile gametes - Plasmogamy
Mushrooms - Basidiomycetes

Bovine spongiform encephalopathy — Viroid

b =

e

Options :

1908895865. 1
1908895866. 2
1908895867. 3

1908895868. 4

Question Number : 142 Question Id : 1908891483 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :
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1908895865. 1
1908895866. 2
1908895867. 3

1908895868. 4

Question Number : 143 Question Id : 1908891484 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which one of the following 1s NOT a cloning vector?

Bacteriophage

Phagemid

Bosmid

Yeast Artificial Chromosome

b =

sl

Options :

19088958609. 1
1908895870. 2
1908895871. 3
1908895872. 4

Question Number : 143 Question Id : 1908891484 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

B o

1908895869. 1
1908895870. 2
1908895871. 3

1908895872. 4

Question Number : 144 Question Id : 1908891485 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Succus entericus 1s secreted by

Peyer’s patches
Crypts of Lieberkuhn
Auerbach’s plexus
Brunner’s gland

b =

e L

Options :

1908895873. 1
1908895874. 2
1908895875. 3
1908895876. 4

Question Number : 144 Question Id : 1908891485 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

W

1908895873. 1
1908895874. 2
1908895875. 3

1908895876. 4

Question Number : 145 Question Id : 1908891486 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Which of the following affects the Hardy — Weinberg equilibrium?
A. Gene flow

B. Genetic drift

C. Genetic variation

D. Genetic recombination

E. Mutation

Choose the correct answer from the options given below:

1. AB.C.D &E only

2. AB.D & E only

3. B.C.D & E only

4. B & C only
Options :

1908895877. 1
1908895878. 2
1908895879. 3
1908895880. 4

Question Number : 145 Question Id : 1908891486 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908895877. 1
1908895878. 2
1908895879. 3

1908895880. 4

Question Number : 146 Question Id : 1908891487 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1

Given below are two statements

Statement I: Process in which the fitness of one species 1s significantly higher i the presence of
another species 15 called as mterference competition.

Statement II: Two closely related species competing for the same resources cannot coexist
ndefinitely.

In light of the above statements. choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement II are mcorrect
Statement I 1s correct but Statement II 15 incorrect
Statement I 1s incorrect but Statement IT 1s correct

b =

= L



Options :

1908895881. 1
1908895882. 2
1908895883. 3
1908895884. 4

Question Number : 146 Question Id : 1908891487 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908895881. 1
1908895882. 2
1908895883. 3

1908895884. 4

Question Number : 147 Question Id : 1908891488 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A person suffering from malaria experience recurring chill and fever at the time when the

trophozoites reach maximum growth and release toxms.
host RBC's ruptures.

sporozoites enter spleen and multiply.

gametocytes are being destroyed by WBCs.

e I

Options :

1908895885. 1
1908895886. 2
1908895887. 3

1908895888. 4

Question Number : 147 Question Id : 1908891488 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908895885. 1
1908895886. 2
1908895887. 3

1908895888. 4

Question Number : 148 Question Id : 1908891489 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



A vertebrate with elongated body. 6-15 pairs of gill slits. circular jawless mouth and exhibiting
anadromous migration i3

1. Petromyzon
2. Anguilla

3. Salamander
4. Labeo rohita

Options :

1908895889. 1
1908895890. 2
1908895891. 3

1908895892. 4

Question Number : 148 Question Id : 1908891489 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 4 Wrong Marks : 1
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Options :

1908895889. 1
1908895890. 2
1908895891. 3

1908895892. 4

Question Number : 149 Question Id : 1908891490 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Arrange the following regions of microsporangium from the exterior to the innermost.
A. Endothecium

B. Tapetum

C. Middle layers

D. Epidermis

E. Sporogenous tissue

Choose the correct answer from the options given below:

1. D=A>C>=B>E
2. D>C>A>B>E
3. E=B>C>A>D
4. E>C>A>B>D
Options :

1908895893. 1
1908895894. 2
1908895895. 3
1908895896. 4

Question Number : 149 Question Id : 1908891490 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908895893. 1
1908895894. 2
1908895895. 3

1908895896. 4

Question Number : 150 Question Id : 1908891491 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1



Given below are two statements

Statement I: The direction of movement of water and nutrients in xylem and phloem 1s
unidirectional.

Statement II: Sucrose 1s transported from source to the sink via phloem.

In light of the above statements. choose the most appropriate answer from the options given
below

Both Statement I and Statement II are correct
Both Statement I and Statement I are incorrect
Statement I 1s correct but Statement I is incorrect

b =

b

Statement I 1s mcorrect but Statement II 15 correct

Options :

1908895897. 1
1908895898. 2
1908895899. 3

1908895900. 4

Question Number : 150 Question Id : 1908891491 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 4 Wrong Marks : 1
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Options :

1908895897. 1



1908895898. 2
1908895899. 3

1908895900. 4



